Youth Competition Times

Sampoorna

CERT

eneral Science

ONE LINER
CLASS - VI - XII

Chief Editor
A. K. Mahajan
Compiled & Written by
YCT Exam Expert Team

Computer Graphics by
Balkrishna Tripathi & Ashish Giri

Editorial Office
12, Church Lane Prayagraj-211002
3 9415650134
Email : yctap12@gmail.com
website : www.yctbooks.com/www.yctfastbook.com/ www.yctbooksprime.com
© All Rights Reserved with Publisher

u yct books official

Publisher Declaration

Edited and Published by A.K. Mahajan for YCT Publications Pvt. Ltd.
and E:Book by APP Youth Prime BOOKS In order to Publish the book,
full care has been taken by the Editor and the Publisher,
still your suggestions and queries are welcomed.

In the event of any dispute, the judicial area will be Prayagraj.




Index g

Physics
Unit/ Measurement/Measuring Instrument/Physical Quantities 7-17
A. Unit 7
B. Measurement 12
C. Measuring Instrument 14
D. Physical Quantities 17
Mechanics 18
A. Work 18
B. Power 19
C. Energy 20
D. Mass 22
E. Newton's Law of Motion 23
F. Force 25
G. Linear Momentum/Impulse 26
H. Principle of Conservation of Momentum 27
I. Distance and Displacement 27
J. Speed/Velocity 27
K. Projectile Motion 28
L. Acceleration 28
M. Equation of Linear Motion 29
N. Friction 29
O. Simple Harmonic Motion/Rotational Motion 30
Gravitation 31
A. Newton's Gravitational Law 31
B. Gravity and Motion Under Gravity 32
C. Satellite Motion/Escape Velocity 34
Properties of Matter 34
A. Elasticity 34
B. Surface Tension/ Capillarity/ Viscosity 34
C. Flow of Liquids 35
D. Buoyancy and Archimedes's Principle 35
E. Pressure 36
F. Density 37
G. Kinetic Theory 37
Heat 37
A. Temperature & Measurement of Temperature 37
B. Thermal Energy/Thermal Conduction/Radiation 39
C. Convection 39
D. Conductor/Non-conductor/ Insulator 39
E. Phase Transition and Latent Heat 40
F. Relative Humidity/Vaporization 40
G. Thermodynamics 41
Wave 41




O Sound 43
A. Nature of Sound Waves 43
B. Frequency Range of Sound Waves 44
C. Speed of Sound 45
D. Characteristics of Sound 46
E. Echo 46
F. Sonar/Radar 47
QO Light 47
A. Nature of Light 47
B. Scattering of Light 48
C. Reflection of Light 50
C-1. Rules of Reflection 50
C-2. Reflection from Plane Mirror 52
C-3. Reflection from Spherical Mirror 52
D. Refraction of Light 54
E. Total Internal Reflection of Light 55
F. Lens (Convex/Concave) 56
G. Human Eyes 57
H. Optical Instruments 57
L. Dispersion of Light/Rainbow 57
Q Electricity 58
A. Electric Charge 58
B. Coulomb's Law 58
C. Electric Circuit 59
D. Electric Current 60
E. Electric Conductivity/ Ohm's Law 61
F. Resistance 62
G. Electric Power/Energy 64
H. Electric Instruments 65
J. Electric Bulb 67
K. Electric Cell 68
O Magnetism 68
Q Electronics 72
QO Modern Physics 73
Q Nuclear Physics 73
QO Invention 75
Q Miscellaneous 79
O Chemistry: An Introduction 83
A. Classification of Matter 83
B. Physical and Chemical Changes 83
C. Law of Conservation of Mass and Constant Proportions 84
D. Mole concept 84
E. Metals, non metals and metalloids 85
F. Allotropy 87
QO Atomic Structure 89
A. Atom and their fundamental components 89
B. Atomic number and mass number 92
C. Isotopes, Isobars, Isoelectronics and Isoneutronic 95
D. Atomic models 96
E. Quantum numbers 97




000

000

@

C000O0

o0

F. Electronic configuration

98

99

G. Heisenberg Uncertainty Principle

99

H. Aufbau Principle

Periodic Classification of elements
A. Newland’s law of Octaves

99

B. Dobereiner’s law of Triads

C. Mendeleev’s Periodic Table

D. Moseley’s Modern Periodic Table

E. Periodic properties of Elements
Chemical Bonding

State of Matter

Oxidation and Reduction

Acids, Bases and Salts

A. Acid
B. Base

C. Salt

D. pH value

E. Acid-Base Indicator

F. Amphoteric Oxide
Solution

Electrolysis and Electro-Chemical series

Radioactivity and Nuclear Energy
Non-metals and Non-metallic Compounds and their application

A. Hydrogen
B. Carbon

C. Nitrogen and Phosphorous

D. Oxygen and Sulphur

E. Halogen
F. Inert gases

Metals and Metallic Compound and their application

A. Sodium and Potassium

B. Calcium and Magnesium

C. Aluminium
D. Iron

E. Lead and Mercury

F. Copper/Zinc/Tin

G. Silver and Gold

H. Other Metals
Metallurgy

A. Ores

B. Alloy

C. Extraction of metals and metalloids

Polymers
Fuels and Explosives materials

Soap and Detergents

Glass, Cement and Fertilizer

Organic Chemistry

A. Nomenclature of Organic Compounds
B. Hydrocarbons

C. Alcohol

D. Aldehyde, Ketone and Carboxylic acid

E. Esters/Formaldehyde

F. Others organic compounds
Chemical Reactions

Miscellaneous

101
102
103
109
111
114
115
117
117
119
119
120
123
124
125
127
128
129
129
130
132
135
136
138
139
139
143
148
148
149
150
151
153
154
154
156
158
158
160
164
165
166
166
167
171
173
175
176
177
181




Q Major Branches of Biology 190
Q Taxonomy 192
QO Plant Kingdom 193
A. Bacteria 193
B. Fungi 194
C. Algae 195
D. Bryophyta 197
E. Pteridophyta 197
F. Gymnosperms 198
G. Angiosperms 198
O Animal Kingdom 201
A. Protista/Protozoa 201
B. Porifera 201
C. Coelenterata 201
D. Platyhelminthes 202
E. Aschelminthes 202
F. Annelida 202
G. Arthropoda 203
H. Mollusca 204
I. Echinodermata 204
J. Chordata (Amphibia, Reptiles, Aves, Mammalia and Pisces) 205
O Plant Morphology 209
A. Root 209
B. Stem 210
C. Leaf: 210
D. Flower 211
E. Fruit 212
QO Plant Physiology 212
A. Transpiration 212
B. Photosynthesis 212
C. Respiration 214
D. Transport in Plants 214
E. Plant Hormones 216
F. Plant Movement 217
QO Reproduction in plants 218
Q Cell (Theories structures and Functions) 220
A. Animal Cell 220
B. Plant Cell 223
O Tissues 224
A. Animal Tissues 224
B. Plant Tissues 225
QO Human Physiology 226
A. Digestive System 226
B. Blood Circulatory System 231
C. Respiratory System 236
D. Excretory System 239
E. Nervous System 240




00

00000

00000

000000

(ONCNONORONONCNONORONONONO,

F. Skeleton System

G. Endocrine System

H. Reproductive System
I. Human disease, Symptoms and Treatment

Economical Importance of Animals and Plants

Biomolecules
A. Protein and Enzyme

B. Lipid and Carbohydrates

C. Nucleic acids
Protein, Vitamins and Minerals

Organic Evolution

Genetics
Genetic Engineering and Biotechnology

Major Biologist and Invention

Miscellaneous

Computer
Computer: Introduction

Development of Computer

Input/Output Devices
Memory

Design Tools and Programming Languages

Data Representation and Numerical System
(a) Numerical System

(b) Boolean Algebra

(c) Logical Gate
Software

Data Tranmisson/Communication

Internet

M.S. Office

M.S. Window

Abbreviation

Miscellaneous

Environment

Ecology
Environment and Ecosystem

Environmental conservation: Global Efforts & Conventions

National Parts and Wildlife Sanctuaries
Pollution

Waste Management
Green House Effect/ Climate Change

Wildlife & Biodiversity Conservation and Management

Ozone Layer
Sustainable Development

Non-Conservational Energy Sources
Forest

Miscellaneous

244
247
250
253
271
273
273
274
275
276
280
282
285
286
287

293
297
299
302
306
309
309
310
310
311
315
319
324
327
328
330

333
335
339
346
354
365
368
374
389
392
393
396
397




(1)

PHYSICS

1. Unit/ Measurement/Measuring Instrument/Physical Quantities

A. Unit
The physical quantities has the same SI unit as work— Energy SSC MTS/Havaldar—
07/07/2022
(Shift-11T)
SSC JE Electrical
09/10/2023 (Shift-11T)
S.I. unit of electric current is— Ampere | RRB Group-D, 04-12-2018
(Shift —IT)
RRB Group-D, 24-10-2018
(Shift —IT)
RRB ALP & Tec.(30-08-
2018, Shift-1I)

The unit that is equal to unit of energy — Work RRB ALP & Tec.(21-08-
2018, Shift-II)

Ampere second is the unit of — Charge RRB JE (14-12-2014, Red
Paper)

The unit is used for measuring Astronomical distance— Light year RRB NTPC Stage-I*, 04-
04-2016, Shift -1I

The S.I. unit of pressure is — Newton/m’ or pascal | RRB Group-D, 04-10-2018
(Shift —-I)

RRB Group-D, 01-10-2018
(Shift —I1T)

RRB Group-D, 25-09-2018
(Shift —IT)

RRB Group-D, 25-09-2018
(Shift —I1I)

RRB NTPC Stage-T*, 09-
04-2016, (Shift -1T)

RRB JE, 25-05-2014, (Shift
-I11)

RRB NTPC 15.03.2021
(Shift-1T) Stage Ist

RRB Group-D, 05-11-2018

(Shift -I)

The unit of approximate distance from the earth to the sun is— Astronomical RRB NTPC Stage-I*, 16-
Unit 04-2016, Shift -1

The SI unit of force is— Newton RRB NTPC 30.12.2020

(Shift-1I) Stage Ist

RRB NTPC Stage-I*, 16-
04-2016, Shift -11

RRB Group-D, 01-10-2018
(Shift 1)

S.I. unit of displacement is— Meter | RRB Group-D, 02-11-2018
(Shift —IT)
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The S.I. unit of ‘g’ is same as— Acceleration | RRB Group-D, 13-12-2018
(Shift —IT)
The S.I. unit of work is equal to Energy | RRB Group-D, 12-12-2018

(Shift —I1I)
RRB Group-D, 03-
10-2018 (Shift —I1)

Nm’kg™ is S.I. unit of—

Universal constant of gravitation

RRB Group-D, 01-10-2018
(Shift —I)

Weight has equal S.I. unit of-

Force

RRB Group-D, 12-11-2018

(Shift —IT)

RRB Group-D, 07-12-2018

(Shift —I1I)

RRB Group-D, 09-10-2018
(Shift—IT)

The international unit of Speed is—

m/s

RRB Group-D, 01-10-2018
(Shift —I1I)

ms~? is S.1. unit of—

Acceleration

RRB Group-D, 15-10-2018
(Shift —III)
RRB Group-D, 24-09-2018
(Shift —I)
RRB Group-D, 11-10-2018
(Shift —1T)

RRB Group-D, 19-09-2018

(Shift —I1I)

Volt is S.I. unit of —

Electric potential

RRB Group-D, 05-10-
2018(shift -1)

The unit of electric potential is—

Volt (V)

RRB JE CBT-II 31.08.2019
IInd Shift

S.I. unit of voltage is —

Volt

RRB Group-D, 11-12-2018
(Shift —II)

RRB Group-D, 25-10-2018
(Shift —III)

The unit of temperature is—

Kelvin (K)

RRB Group-D, 15-11-2018
(Shift -II)

Ohm-m is unit of—

Resistivity

RRB Group-D, 05-10-2018
(shift-II)

Ampere is the S.I. unit of

Electric current

RRB Group-D, 03-10-2018
(Shift —I1I)

The S.I. unit of retardation is— ms” | RRB Group-D, 03-10-2018
(Shift —I1I)
1Pascal is— INm? | RRB Group-D, 11-12-2018
(Shift —IT)
The S.I. unit of wavelength is— Meter | RRB JE (26-06-2019,Shift-
1V)
A symbol of mole in S.I. unit is— mol | RRB JE (28-06-2019,Shift-
1V)
The unit of electric power expenditure is— kWh | RRB JE (02-06-2019,Shift-
D
The another name for coulomb / second is— Ampere | RRB JE (28-05-2019, Shift-
110)
Lux is the SI unit of— Intensity of illumination | RRB JE (14-12-2019,Green
Paper)
The S.I. unit of wave speed is— Meter/second | RRB JE (28-05-2019, Shift-
111)
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The commercial unit of electrical energy is—

Kilowatt hour

RRB Group-D- 30/09/2022
(Shift-T)

RRB Group-D 20-09-2018
(Shift-1T)

The S.I. unit of resistance is equivalent to—

Volt/ampere

Group-D 25-08-2022
(Shift-1IT)

The physical quantity having a unit of volt/ampere is—

Resistance

RRB Group-D 28-09-2022
(Shift-TIT)

The S.I. unit of induced potential difference is—

A%

RRB Group-D 22-08-2022
(Shift-11T)

Newton is the unit to measure—

Force

RRB NTPC 08.02.2021
(Shift-1T) Stage Ist

The ST unit of sound wave frequency was named in honour of the physicist—
Heinrich Rudolf Hertz

RRB NTPC 19.01.2021
(Shift-II) Stage Ist

The ST unit of electrical resistivity is—

Ohm-meter

RRB Group-D 04-12-2018
(Shift-11T)

RRB Group-D 23-10-2018
(Shift-I)

using the conventional unit—

The amount of radiation being emitted by a radioactive material is measured

Curie

RRB NTPC 29.01.2021
(Shift-1T) Stage Ist

The measured in ‘joules' is—

Energy

RRB NTPC 28.01.2021
(Shift-I) Stage Ist

Henry per meter is the unit of— Magnetic permeability

ALP Stage -1I 23.01.2019
(shift - IT)

A light-year is a unit of—

Distance

RRB NTPC 01.02.2021
(Shift-I) Stage Ist

RRB JE (14-12-2014, Green
Paper)

The ST unit of power of a lens is called—

Dioptre

RRB NTPC 13.01.2021
(Shift-IT) Stage Ist

The SI unit of 'Magnetic Flux' is—

Weber

RRB NTPC 03.03.2021
(Shift-IT) Stage Ist
RRB NTPC 07.04.2021
(Shift-1T) Stage Ist

The quantities has the SI unit as Candela is— Luminous intensity

RRB JE CBT-II 29-08-
2019 (evening)

The rate of doing work is called power. The S.I. unit of power is—

Watt or J/s

RRB NTPC 11.02.2021
RRB ALP & Tec.(21-08-
2018, Shift-I)

(Shift-I) Stage Ist

RRB JE (24-05-2019,

Shift -I)

RRB Group-D, 01-10-2018
(Shift —II)

RRB Group-D, 22-10-2018
(Shift -1

RRB Group-D, 02-11-2018
(Shift —II)

The unit is used to measure the intensity of sound—

Decibel

RRB NTPC 25.01.2021
(Shift-I) Stage Ist

Unit used for measuring the sound by—

Decibel

RRB NTPC Stage-I*, 22-
04-2016, Shift -1T
RRB NTPC Stage-I*, 18-
04-2016, Shift -1T

PHYSICS 9
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The SI units that is used for measuring the amount of a substance— Mole

RRB NTPC 28.12.2020
(Shift-I) Stage Ist
RPFConstable 05.02.2019

S.I. unit of weight is—

Newton

RRB Group-D, 03-10-2018
(Shift —IT)

RRB ALP & Tec.(17-08-
2018, Shift-11)

RRB JE (24-05-2019, Shift-
)]

Unit of momentum is—

kgms'l

RRB ALP & Tec.(14-08-
2018, Shift-II)

RRB Group-D, 23-10-2018
(Shift -I)

RRB Group-D, 19-09-2018
(Shift —III)

Unit of power in industry is—

Horsepower

RRB ALP & Tec.(13-08-
2018, Shift-ITI)

S.I. unit of electric charge is—

Coulomb

RRB Group-D, 26-11-2018
(Shift —I1T)

RRB Group-D, 04-10-2018
(Shift —IT)

RRB ALP & Tec.(31-08-
2018, Shift-11I)

RRB ALP & Tec.(10-08-
2018, Shift-11I)

RRB NTPC Stage-I*,28-03-
2016, Shift -11

S.I. unit of resistance is —

Ohm

RRB Group-D, 23-11-2018
(Shift -I)

RRB Group-D, 31-10-2018
(Shift —IT)

RRB ALP & Tec.(09-08-
2018, Shift-I)

RRB NTPC Stage-I*,26-04-
2016, Shift -I11

RRB NTPC 21.01.2021
(Shift-1T) Stage Ist

RRB Group-D 29-09-2022
(Shift-11II)

RRB JE (28-06-2019, Shift -
1V)

S.I. unit of stress is—

N/m’

RRB SSE (21-12-2014,Set-
8, Green Paper)

The unit of magnetic intensity in CGS (centimeter-Gram-Second) system is—

Ostrade

SSC CHSL (Tier-1I) —
26/06/2023

Electron-volt is a unit of—

Energy

SSC CGL—(Tier-I)
13/08/2021 (Shift I)

Parsec is a unit of—

Length

SSC CGL (Tier-I)
18/08/2021 (Shift I1)

The SI unit for measuring the amount of a substance is—

mole (mol)

SSC CGL—(Tier-I)
18/08/2021 (Shift IT)
SSC JE electrical
24/03/2011 Shift-1T

The unit of the Physical quantity Entropy is—

Joule per Kelvin

(SSC CPO (Tier-I) 2016)

The unit of measuring intensity of sound is—

Decibels

SSC CGL (Tier-I)-
11/06/2019 (Shift-I1)
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Noise is measured in—

Decibel

SSC JE Civil - 23/01/2018
(Shift-T)

SSC CGL (TIER-1) 01-09-
2016, 10 am

The SI unit of intensity of sound is—

Watt per meter square

(SSC 10+2 CHSL 17.01.17,
10 am)

The fundamental unit of amount of a substance—

Mole

(SSC 10+2 CHSL 10.01.17,
1.15 pm)

SSC JE Electrical
28.10.2020 (Shift-T)

'Angstrom' is a unit of measurement of—

Length

SSC JE Civil - 23/09/2019
(Shift-T)

The SI unit of electric charge is—

Coulomb

SSC JE Civil - 25/09/2019
(Shift-T)

1 Pascal is equal to —

1 newton per meter square

SSC JE Mechanical -
27/09/2019 (Shift-I)

The ST unit of pressure is—

Pascal

SSC CHSL-04/07/2019
(Shift-I)

SSC JE Mechanical
28.10.2020 (Shift-1T)

Diopter is unit of—

Power of lens

SSC JE Civil - 29/01/2018
(Shift-IT)

Physical quantity measured in 'Siemens' is—

Electric conductance

(SSC 10+2 CHSL 08.01.17,
4.15 pm)

'Mho' is the unit of—

Conductance

SSC CPO-SI 25/11/2020
(Shift-I)

(SSC 10+2 CHSL 23.01.17,
1.15 pm)

The unit of the physical quantity “Jerk” is—

Meter per second cube

(SSC 10+2 CHSL 03.02.17,
4.15 pm)

The unit of the physical quantity, Magnetic flux is—

Weber

(SSC 10+2 CHSL 03.02.17,
1.15 pm)

SSC JE Civil 30.10.2020
(Shift-I)

SSC GD 03/03/2019 (Shift-
D

SSC JE Civil 30.10.2020
(Shift-I)

The unit of the physical quantity "Magnetic field intensity" is—

Newton per ampere meter

(SSC 10+2 CHSL 07.02.17,
10 am)

The unit of measurement of the magnetic field strength—

Tesla

SSC CGL (Tier-I) -
13/06/2019 (Shift-I)

(SSC 10+2 CHSL 27.01.17,
4.15 pm)

(SSC 10+2 CHSL 25.01.17,
10 am)

The unit of the physical quantity “Inductance” is—

Henry

(SSC 10+2 CHSL 02.02.17,
10 am)

The unit of the physical quantity "stress" is—

Pascal

(SSC 10+2 CHSL 07.02.17,
4.15 pm)

The unit of the physical quantity "Young's modulus" is—

Pascal

(SSC 10+2 CHSL 08.02.17,
4.15 pm)

The unit of the physical quantity “Heat Capacity” is—

Joule per kg-kelvin

(SSC 10+2 CHSL 31.01.17,
4.15 pm)

PHYSICS
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The unit of the physical quantity “Capacitance” is—

Faraday

(SSC 10+2 CHSL 31.01.17,
10 am)

(SSC 10+2 CHSL 01.02.17,
1.15 pm)

Unit of impedance is—

Ohm

(SSC 10+2 CHSL 02.02.17,
1.15 pm)

The unit of electric resistance is—

Ohm

SSC CHSL-05/07/2019
(Shift-T)

(SSC 10+2 CHSL 11.01.17,
1.15 pm)

The unit of the physical quantity, (Radioactive) Activity is—

Becquerel

(SSC 10+2 CHSL 31.01.17,
1.15 pm)

SSC CHSL-09/07/2019
(Shift-1T)

The unit of the physical quantity, Momentum is—

Newton-second

(SSC 10+2 CHSL 30.01.17,
4.15 pm)

SSC MTS-13/08/2019
(Shift-I)

The unit of the physical quantity, [lluminance is—

Lux

(SSC 10+2 CHSL 29.01.17,
10 am)

The unit of relative density is—

It has no unit

(SSC 10+2 CHSL 15.01.17,
4.15 pm)

The SI (International system of units) unit of length is—

Metre

SSC CPO (SI)-13/12/2019
(Shift-T)

The SI unit of mass is—

Kilogram

SSC JE Electrical —
24/03/2021 (Shift-I)

The SI Unit of time is—

Second

SSC JE Civil — 23/03/2021
(Shift-IT)

The basic SI unit of thermodynamic temperature is—

Kelvin

SSC CHSL 20/10/2020
(Shift-T)

SSC CHSL 18/03/2020
(Shift-III)

SSC CHSL 20/10/2020
(Shift-T)

SSC CHSL (Tier-I) -
10/07/2019 (Shift-T)

The formula of Pressure in Physics is—

Force/Area

SSC MTS 08/08/2019
(Shift-IT)

'"Torr' is a unit of—

Pressure

SSC CPO-SI 23/11/2020
(Shift-T)

SSC CGL(Tier-I)-
07/03/2020 (Shift-III)

The ST Unit of quantity of heat is—

Joule

SSC JE Civil - 23/03/2021
(Shift-T)

Hertz is the S.I Unit of—

Frequency

SSC CHSL-02/07/2019
(Shift-III)

The equivalent of coulomb per second is —

Ampere

SSC MTS 13/10/2021
(Shift-T)

B. Measurement

A 'light year' is a unit that is use to measure—

Distance

RRB NTPC 14.03.2021
(Shift-IT) Stage Ist

1 atmosphere =

1.01x10°Pa

RRB Group-D, 28-11-
2018 (Shift —T)

RRB Group-D, 24-11-2018
(Shift —I1T)
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1 horse power is equal to - 746 watt

RRB ALP & Tec.(20-08-
2018, Shift-II)

SSC JE Mechnical
27.09.2019 (shift-I)

SSC MTS 05.04.2019
(Shift-1T)

746 watt called is— 1 horsepower

RRB Group D 05-11-
2018(Shift-11T)

1 Diopter is equal to — 1m'

RRB JE (02-06-2019,Shift-
)

A meter equal to in micron— 10° micron

RRB JE (14-12-
2019,Yellow Paper)

Sound pollution is measured in— Decibel (dB)

RRB JE (22-05-2019,
Shift-IV)

R.R.B. JE. Stage - II 30-08-
2019 (Shift - IIT)

Loudness of sound is measured in— Decibel (dB)

RRB Group-D, 12-11-2018
(Shift —II)

1 kWh= 3.6 x10°)

RRB Group-D, 20-09-2018
(Shift —I1T)

RRB Group-D, 18-09-2018
(Shift —1T)

RRB Group-D, 27-09-2018
(Shift -I)

RRB Group-D, 09-08-2018
(Shift —IT)

RRB ALP & Tec.(09-08-
2018, Shift-I)

1 kilowatt is equal to— 1000 watt

RRB Group-D, 26-05-2019
(Shift —I1I)

Atomic radius is measured in— Nanometer

RRB-JE 30.08.2019, Ist
Shift

1 Nano meter = 1/10°m

RRB Group-D, 16-11-2018
(Shift -I)

1 Pico meter = 10"”m

RRB Group-D, 20-09-2018
(Shift —I1I)

The strength of winds is measured with the help of— Beaufort scale

RRB JE CBT-II 28-08-
2019 (evening)

Korotkoff sounds are observed during measuring the— Blood pressure

R.R.B. JE. Stage - IT 01-09-
2019 (Shift - ITT)

The relation between 'atm' and 'bar' is— 1 atm = 1.013 bar

SSC CHSL (Tier-1) —
04/08/2023 (Shift-1IT)

Mohs scale is used for— To measure hardness of minerals

(SSC 10+2 CHSL 23.01.17,
4.15 pm)

One nanometer is equal to— 10 raised to the power (-9) meters

(SSC 10+2 CHSL 15.01.17,
4.15 pm)

'Femto' means ten raised to the power of— -15

SSC CPO-SI 23/11/2020
(Shift-T)

1 pound is equal to— 16 ounces

SSC MTS 08/08/2019
(Shift-TIT)
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C. Measuring Instrument

Voltmeter is used for measuring- Voltage

RRB J.E., 29-05-2019(Shift-
111)

RRB Group -D, 27-09-2018
(Shift-1IT)

RRB Group- D,

08.10.2018 (Shift-I)

RRB Group -D, 08-10-2018
(Shift-1T)

Gallon is generally used for — Measuring the volume

RRB NTPC Stage-T*, 31-
03-2016, Shift -1

Galvanometer is used for measuring- Direction of current

RRB Group- D, 24-09-
2018(Shift-T)

RRB Group -D, 22-09-2018
(Shift-T)

A type of instrument that detect current in a circuit— Galvanometer

RRB NTPC Stage-I*
26.04.2016 (SHIFT-II)

To be used to measure motor speed— Speedometer

RRB Group- D,05-11-
2018(Shift-I)

Ammeter : Electric current :: Ohmmeter : — Resistance

RRB Group -D, 03-10-2018
(Shift-IT)

The instrument that is used for measuring power and speed of wind—
Anemometer

RRB Group -D, 12-10-2018
(Shift-I)

RRB NTPC 25.01.2021
(Shift-I) Stage Ist

RRB NTPC 23.07.2021
(Shift-1T) Stage Ist

The instrument that can be measured temperature without touching to object—
Infrared thermometer

RRB J.E. (14.12.2014,
Green paper)

The instrument that aids in the detection of the heartbeat— Stethoscope

RRB Group-D- 02/09/2022
(Shift-TIT)

Name of the instrument used by the physicians to measure blood pressure—

RRB Group-D- 09/09/2022

Sphygmomanometer (Shift-11II)
The instrument that is used to detect the presence of electric charge on an object— RRB NTPC 19.03.2021
Electroscope (Shift-I) Stage Ist

A hygrometer is an instrument used to— Measure the amount of water vapour

or humidity in atmosphere

RRB NTPC 27.01.2021
(Shift-1I) Stage Ist

A lie detector apparatus is also known as a— Polygraph RRB NTPC 01.02.2021
(Shift-IT) Stage Ist
Lie detector machine is a— Polygraph RRB NTPC 03.03.2021

(Shift-I) Stage Ist

The instrument that is used to show the direction of flow of current in a circuit—
Galvanometer

RRB NTPC 19.01.2021
(Shift-I) Stage Ist

The devices that is used to measure relatively high temperature, such as
encountered in furnaces are— Pyrometer

RRB NTPC 07.01.2021
(Shift-1I) Stage Ist

The device that is used in submarines to see things above the level of the sea—
Periscope

RRB NTPC 10.04.2016
(SHIFT-III) Stage-I

The instrument that is used to measure atmospheric pressure is- Barometer

RRB NTPC (12.04.2016)
SHIFT) Stage- I

RRB NTPC 10.01.2021
(Shift-I) Stage Ist
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The device that is used to see the Sun— Helioscope

RRB NTPC 10.04.2016
(SHIFT-I) Stage-I*

Potentiometer basically— Is a measuring instrument

RRB J.E. (14.12.2014),
Green paper

The device that is measured the electric current— Ammeter | RRB J.E. (14.12.2014), Red
paper

When galvanometer is converted into ammeter — A low resistance is connected RRB J.E. (14.12.2014, Set-
in parallel with galvanometer. 2), Red paper

Stalagmometer is used to measure— Surface tension

RRB SSE 21.12.2014

Odometer is an instrument which is used in motor vehicle for measuring-
Distance

RRB Group -D, 10-10-2018
(Shift-11T)

RRB ALP & TECH
(14.08.2018) Shift — I

RRB Group -D, 25-10-2018
(Shift-1I)

The instrument that is used for measuring distance travelled by vehicle—
Odometer

RRB Group- D,05-11-
2018(Shift-1I)

The device that is used to measure the volumetric flow rate of fluid is-
Rotameter

RRB SSE 21.12.2014

Tachometer is used for— Revolutions per minute

RRB J.E. 2014(14-12-2014
,Green Paper)

RRB NTPC Stage-I*
31.03.2016 (SHIFT-II)
RRB S.S.E. 2014(21-12-
2014 ,Set-08,Green Paper)

Multimeter consist of- Voltmeter, Ammeter & Ohm meter

RRB J.E. 2014(14-12-2014,
Green Paper)

Instrument used for measuring density of liquid is- Hydrometer RRB NTPC Stage-I*
05.04.2016 (SHIFT-I)

The instrument that is used for discovering the things in water— Sonar RRB NTPC Stage-I*
28.03.2016 (SHIFT-II)

Echolocation in ships is used for measuring— Depth of water RRB Group- D, 12-11-
2018(Shift-I)

The type of Echolocation is — Sonar | RRB Group -D, 01-11-2018

(Shift-IT)

The instrument that is used for measuring density of milk— Lactometer

RRB Group- D,12-11-
2018(Shift-III)

Wind vane instrument is determines— Direction of wind

SSC MTS — 15/05/2023
(Shift-T)

The instrument that is used by meteorologists to measure the hemispherical area
of incidence of solar radiation on a flat surface— Pyranometer

SSC Selection Posts XI—
27/06/2023 (Shift-I)

Seismograph is used to measurement of— Earthquake

SSC CGL (Tier-1)-
17/07/2023

(Shift-IT)

SSC (10 +2) CHSL
10.01.2017, 4:15

PM

SSC JE Civil 23.03.2021
(Shift-T)
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Infrared optical can be used for measuring and monitoring temperatures and hot

SSC CHSL 19/04/2021

spots of jet engine rotor blades— Pyrometer (Shift-T)
The instrument used in submarines to view objects above sea level is— Periscope SSC JE Mechanical -
27/09/2019

(Shift-11)

SSC MTS 09/08/2019

(Shift-II)

The meter that measures the speed of the vehicle is called— Speedometer

SSC MTS 10-10-2017
(Shift-T)

Sextant is an instrument used in— Navigation

(SSC CGL (TIER-1) 08-09-
2016, 4.15 pm)

The device used to measure wind speed is— Anemometer

SSC JE Civil - 25/09/2019
(Shift-T)

Anemometer is an instrument for measuring— Wind speed

(SSC CGL (TIER-1) 31-08-
2016, 4.15 pm)

The instrument used to check the purity of milk by measuring the relative density
of milk is— Lactometer

SSC JE Electrical
10.12.2020 (Shift-II)

A device that can be used to test whether an object is carrying a charge or not is
known as— Electroscope

SSC JE Mechanical
27.10.2020 (Shift-I)

Scientific instruments is used to measure the atmospheric pressure— Barometer

SSC JE Mechanical
27.10.2020

(Shift-1T)

(SSC 10+2 CHSL 19.01.17,
10 am)

(SSC CGL (TIER-1) 07-09-
2016, 10 am)

The relative humidity is measured with the help of— Hygrometer

SSC JE Civil 29.10.2020
(Shift-I)

SSC GD 14/02/2019 (Shift-
110}

(SSC 10+2 CHSL 27.01.17,
4.15 pm)

(SSC CGL (TIER-1) 07-09-
2016, 10 am)

The instrument used to measure the intensity of light produced by an unknown

SSC CGL(Tier-I)-

source in terms of a standard source is— Photometer 11/06/2019 (Shift-1I)
Instrument for measuring rainfall is called— Hyetometer (SSC 10+2 CHSL 19.01.17,
10 am)

A galvanometer can be converted to a voltmeter by connecting— (SSC CGL (TIER-1) 03-09-
A high resistance in series 2016, 4.15 pm)

An eudiometer measures— Volume of gases | (SSC CGL (TIER-1) 02-09-
2016, 10 am)

The Beaufort scale is used to measure— Wind velocity | (SSC CGL (TIER-1) 03-09-
2016, 10 am)

Sphygmomanometer measures the blood pressure in the— Arteries | (SSC CGL (TIER-1) 04-09-
2016, 1.15 pm)

The instrument used to measure Blood Pressure is— Sphygmomanometer | (SSC 10+2 CHSL 15.01.17,
10 am)

The instrument used for photographing of the Sun by— Spectroheliograph | (SSC CGL (TIER-1) 04-09-
2016, 4.15 pm)

The sensory receptor related to blood pressure detection is— Mechano receptor | (SSC CGL (TIER-1) 27-10-
2016, 10 am)

Instrument for measuring low temperatures is called— Cryometer (SSC 10+2 CHSL 08.02.17,
1.15 pm)
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Instrument for measuring work performed is called— Ergometer | (SSC 10+2 CHSL 07.02.17,
4.15 pm)

Device used for the detection and measurement of all types of radiation (alpha, | (SSC 10+2 CHSL 09.01.17,
beta and gamma)— Geiger Counter 4.15 pm)
The device used to measure the depth of ocean is— Fathometer | (SSC 10+2 CHSL 09.01.17,
10 am)

Instrument for mesuring blueness of the sky or ocean is called— Cyanometer (SSC 10+2 CHSL 01.02.17,
1.15 pm)

Instrument for measuring time is called— Chronometer | (SSC 10+2 CHSL 23.01.17,
10 am)

The device used to measure earthquakes is— Seismograph SSC JE Civil —23/03/2021
(Shift-I)

(SSC 10+2 CHSL 10.01.17,

4.15 pm)

Sudden fall in the barometer reading is an indication of— Storm | (SSC 10+2 CHSL 16.01.17,
10 am)

Instrument for measuring light intensity is called— Lucimeter | (SSC 10+2 CHSL 23.01.17,
4.15 pm)

We measure specific gravity of milk by— Using a hydrometer (SSC 10+2 CHSL 18.01.17,
1.15 pm)

The instrument used for detecting current in an electric circuit is— Galvanometer SSC JE Electrical —
24/03/2021 (Shift-1I)

The instrument used for measuring electrical resistance is— Ohmmeter SSC JE Electrical —

24/03/2021 (Shift-I)

The scientific instrument used to measure the height of an aircraft above a fixed
level is— Altimeter

SSC CHSL 13/04/2021
(Shift-T)

D. Physical Quantities

Pressure and mass are - Scalar quantity

RRB Group-D 26-10-2018

(Shift-1I)

RRB NTPC 28.12.2020
(Shift-II) Stage Ist

Displacement, force, momentum and velocity are - Vector quantity

RRB Group-D 12-11-2018

(Shift-T)
RRB NTPC Stage I%
28.04.2016 (Shift-T)

RRB NTPC 09.04.2016

(Shift-IIT) Stage I*

RRB Group-D 05-11-2018
(Shift-IT)

RRB JE (14-12-2014, Red
Paper)

An example of vector quantity is — Displacement, Acceleration, force,
Momentum, Current, Gravitational field, Electric Field etc.

SSC CHSL 05/08/2021
(Shift-T)

SSC JE Electrical
10/10/2023 (Shift-1I)

The physical quantity is equal to the expression, are Plane angle

Radius -

SSC CGL (Tier-I)
18/04/2022 (Shift-T)

Two vectors are said to be equal if-  both magnitude and direction are same

(SSC CGL (TIER-1) 11-09-
2016, 4.15 pm)

A quantity or phenomenon that has two independent properties, magnitude and
direction, called— Vector

SSC JE Mechanical -
27/09/2019 (Shift-1T)

The physical quantities is a scalar quantity— Distance, Length, Power
work, Pressure, Speed,Youngs Modulus etc

(SSC 10+2 CHSL 07.01.17,
10 am)

All the non-zero vectors are called— Proper vectors

SSC CGL—(Tier-I)
2308/2021 (Shift T)
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2. Mechanics

A. Work

A bullet fired by gun has the— maximum work

RRB ALP & Tec.(31-08-
2018)Shift-111
RRB Group -D, 12-10-2018

(Shift-11)

The gravitational potential energy of an object at a point above the ground. Is | RRB Group -D, 22-10-2018

defined as the work done in— Lifting it from the ground to the point (Shift-1T)
(opposite gravity)

Capacity of doing work is known as- Energy RRB ALP & Tec.(31-08-

2018)Shift-IIT

If the value of work is positive then the kinetic energy of the body— Increase

RRB Group -D, 20-09-2018
(Shift-T)

The work done by the force is positive when— Displacement occurs in the

direction of force

RRB Group -D, 19-09-2018
(Shift-11T)

Efficiency of work is known as- Energy | RRB Group -D, 16-11-2018
(Shift-11)

Work present if there is — Force | RRB Group -D, 26-09-2018
(Shift-I)

If displacement is horizontal to the applied force, then work done is—  Positive | RRB Group -D, 26-10-2018
(Shift-1I)

Work known as- Force x displacement | RRB Group -D, 08-10-2018
(Shift-I)

When a man pushes a wall but fails to displace it, it does— No any work

RRB Group -D, 12-12-2018
(Shift-1T)

If the work has been done, two conditions must be completed, one of them is-
Object must be displaced

RRB Group -D, 24-10-2018
(Shift-11T)

The product of force and displacement is called- Work

RRB Group -D, 19-09-2018

(Shift-I)

RRB Group -D, 08-08-
2018 (Shift-T)

If a stationary force applied to an object, the object moved in the direction of force, is
expressed as a result of force and displacement, it is called— Work done

RRB Group -D, 27-09-2018
(Shift-I1T)

Work is done on a body only when — It experiences energy gain through

a mechanical effect

RRB Group -D, 11-12-2018
(Shift-III)

The ability of an object to do the work energy contained in an object is depend on
the—
State and condition of object

RRB Group -D, 16-10-2018
(Shift-I)

A moving car faces the wind in the opposite direction. The work done by the
wind on the car will be— Negative

RRB Group -D, 01-10-2018
(Shift-11T)

If an object not moving after applying a force, then we can say that— Any work

RRB Group -D, 16-11-2018

has not done (Shift-I)

If the displacement of an object is zero. Then work done by the applied force is— | RRB Group -D, 16-11-2018
Zero (Shift-I)

The work done is zero with zero- Displacement | RRB Group -D, 11-10-2018

(Shift-T)

When the direction of the force applied and the direction of movement of the
object is perpendicular to each other— No work done

RRB Group -D, 24-10-
2018 (Shift-I)

If an object is rotated in a circular path, the work done on it in one rotation will
be—

Zero

RRB ALP & Tec. (17-08-
018, Shift-II1
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When displacement occurs, the work done by the force is considered to be
negative— Is in the opposite direction of the force

RRB Group -D, 03-12-2018
(Shift-1T)

A material is defined as the minimum amount of the work necessary to remove a
free electron from the surface of the material— The work function

(SSC 10+2 CHSL 03.02.17,
10 am)

The mechanical transfer of energy to a system of from a system by an external
force on it is— Work

(SSC 10+2 CHSL 07.02.17,
1.15 pm)

The product of force with displacement in the direction of force is represented
by- Work

SSC CGL—(Tier-I)
17/08/2021 (Shift I)

B. Power

1 horsepower equals— 746 W

RRB Group-D 18-08-2022
(Shift-T)

The working rate or energy transfer rate is— Power

RRB Group-D 15-10-

2018(Shift-1I)

RRB Group-D 19-09-
2018(Shift-I)

RRB Group-D 17-09-

2018(Shift-11T)

RRB Group-D 05-10-2018

(Shift-I)

RRB Group-D 22-10-2018

(Shift-III)

The formula for power is— Work/Time

RPF SI 24.12.2018 (Shift -
D

RRB ALP & Tec(29-08-
018, Shift-T)

If an agent doing 'W' works in time 't', then his power will be — Wit

RRB Group-D 24-09-
2018(Shift-I)

The physical quantity measures the rate of work done— Power

RRB ALP & Tec.(14-08-
018, Shift-1I)

RRB Group-D 01-10-
2018(Shift-I)

Power = W/T, the meaning of W is— Work done

RRB Group-D 12-10-2018
(Shift-T)

Name the physical quantity that is equal to the product of force and velocity—
Power

RRB Group-D 10-12-2018
(Shift-T)

The average power is equal to— Total used energy/total time

RRB Group-D 25-10-
2018(Shift-1I)

A more powerful engine can do more work in less time like an aeroplane travel
more distance as compare to a car in less time. So aeroplane is more powerful
than a car. It is an example of— Power

RRB Group-D 29-10-
2018(Shift-11T)

The rate of work done is called— Power

SSC CGL (Tier-I)
20/04/2022

(Shift-1T)

(SSC 10+2 CHSL 08.02.17,
4.15 pm)

(SSC 10+2 CHSL 08.02.17,
4.15 pm)

SSC CGL 20/04/2022
(Shift-1I)

One horsepower is approximately equal to— 746 Watts

SSC CPO-SI 24/11/2020
(Shift-1)

SSC CGL (Tier-)-2019 —
03/03/2020 (Shift-III)
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C. Energy

An object is thrown vertically upward during their rise up potential energy and
kinetic energy is — Increases, decreases

RRB Group-D 20-09-
2018(Shift-1I)

During the free fall of an object, energy increases at one point in its path is—
Kinetic energy

RRB Group-D 19-09-2018
(Shift-IT)

The kinetic energy of a bullet when a bullet is fired from a gun is—More than that

RRB Group-D 22-09-

of a gun 2018(Shift-I)
The bullet fired from the gun goes deep inside the target because it has— Kinetic RRB Group-D 10-10-
energy 2018(Shift-11II)

By the turbines flowing water and air are used for change in— Kinetic energy
into electric energy

RRB Group-D 16-11-
2018(Shift-III)

Mechanical energy — kinetic energy = Potential energy

RRB Group-D 19-09-
2018(Shift-1II)

RRB Group-D 12-10-
2018(Shift-1I)

RRB Group-D 16-11-
2018(Shift-1II)

RRB ALP. & Tec. 30-08-
2018(Shift-I)

Mechanical energy is a combination of kinetic energy and — Potential energy

RRB ALP. & Tec. 10-08-
2018(Shift-II)
RRB ALP. & Tec. 13-08-
2018(Shift-III)

Mechanical
energy

The kinetic energy and potential energy of an object is called—

RRB Group-D 16-11-
2018(Shift-I)
RRB Group-D 15-10-
2018(Shift-T)

The sum of the kinetic energy and potential energy of an object is-Mechanical
energy

RRB Group-D 19-09-
2018(Shift-I)

Formula for gravitational potential energy is— U=mgh

RRB Group-D 23-10-
2018(Shift-11T)

The change in the total energy of a body falling freely towards the earth is—
Does not change

RRB Group-D 13-12-
2018(Shift-II)

Dam water contains energy is— Potential energy

RRB Group-D 30-10-
2018(Shift-1I)

The raised hammer has— potential energy

RRB Group-D 03-10-
2018(Shift-1I)

RRB ALP & Tech.
09.08.2018 (Shift-III)

During the free falling of an object — The kinetic energy increase

RRB Group-D 15-11-
2018(Shift-T)

Energy will be converted while riding a bicycle— The chemical energies is
converted into muscular energy then Kkinetic energy

RRB Group-D 05-11-
2018(Shift-1I)

An object is dropped from a certain height to the ground. When it touches the
ground it will contain- Kinetic energy

RRB Group-D 18-09-
2018(Shift-1T)

The strength of an object is known as— Energy

RRB Group-D 27-09-
2018(Shift-T)

The type of energy that changes during the rain— Potential energy is

converted into kinetic energy

RRB Group-D 24-10-
2018(Shift-II)

Increase or decrease with height in— Potential energy

RRB Group-D 03-10-
2018(Shift-11II)
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Potential energy is equal to- mgh RRB Group-D 18-09-
2018(Shift-11I)

RRB Group-D 20-09-

2018(Shift-1)

The kinetic energy equal to— 1/2mv’ RRB ALP. & Tec. 17-08-

2018(Shift-1I)

An example of potential energy is— Bricks placed on the roof of the house,
Spring of a clock when it rotates, Compressed spring, Stored water
in an elevated reservoir under the water supply system etc.

RRB Group-D 31-10-
2018(Shift-1I)

An object capable of performing a work has— Energy

RRB Group-D 15-11-
2018(Shift-III)

The water flowing in a hydroelectric power station can run the turbine because it
containes— Kinetic energy

RRB Group-D 02-11-
2018(Shift-II)

The water raised at a certain height has - Potential energy

RRB Group-D 15-11-
2018(Shift-II)

If a boy leaves a gas-filled balloon that goes upward direction, its potential
energy will be— Increase

RRB Group-D 07-12-
2018(Shift-I)

The energy that increases with speed— Kinetic energy

RRB Group-D 24-10-
2018(Shift-T)

An object was thrown vertically upwards and it reached a maximum height 'h’
from the ground. While going over it, the object at 1/4 of height 'h' will have—
Less potential energy and more Kinetic energy

RRB Group-D 28-11-2018
(Shift-T)

The energy of the wind that does a windmill use— Kinetic energy

RRB NTPC 09.02.2021
(Shift-1I) Stage Ist

If the air resistance is negligible, then what will be sum of the potential energy
and kinetic energy of the freely falling object will be— Constant

RRB Group-D 28-11-
2018(Shift-T)

The maximum kinetic energy of particle is— Gases

RRB Group-D 12-11-
2018(Shift-11T)

RRB Group-D 26-
10-2018(Shift-11I)

When a compressed spring is released, it converts its potential energy into—
Kinetic energy

RRB Group-D 31-10-
2018(Shift-11T)

The potential energy of an object increases with its— Height

RRB Group-D 10-10-
2018(Shift-I)
RRB Group-D 11-10-
2018(Shift-1)

The energy exerted due to the position and shape taken by an object is—
Potential energy

RRB Group-D 23-10-
2018(Shift-I)

RRN ALP & Tech.
20.08.2018 (Shift-I)

The energy that in the water stored in the dam is— Potential energy

RRB Group-D 26-09-2018
(Shift-T)

A moving object essentially receives - Kinetic energy

RRB NTPC 29.03-
2016(Shift-IIT) Stage- I*

A car running at high speed, then typer of energy it contains— Kinetic energy

RRB Group-D 19-09-
2018(Shift-1I)

The energy that is always positive— Kinetic energy

RRB Group-D 26-10-
2018(Shift-11T)

The energy in a compressed spring is— Potential energy

RRB Group-D 22-09-
2018(Shift-1I)

The kinetic energy of an object increases by — Speed

RRB Group-D 13-08-
2018(Shift-I)
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The kinetic energy of a moving object depends on- Mass and velocity

RRB ALP. & Tec. 14-08-
2018(Shift-III)

Hydropower converted K.E. into - Electrical energy

RRB ALP. & Tec. 29-08-
2018(Shift-T)

Swinging of a pendulum is an example of -
Potential energy converted into kinetic energy

RRB ALP. & Tec. 31-08-
2018(Shift-III)

When you stretched a rubber band, the energy stored in it— Potential energy

RRB Group-D 10-10-
2018(Shift-I)

RRB ALP. & Tec. 14-08-
2018(Shift-11T)

RRB Group-D 12-11-
2018(Shift-111)

The energy received by an object by its position and configuration is called—
Potential energy

RRB ALP. & Tec. 1-08-

2018(Shift-T)
RRB Group-D 11-10-
2018(Shift-I)

A compressed spring possesses more energy than a spring of normal length
because the compressed spring has— Potential energy

RRB ALP. & Tec. 20-08-
2018(Shift-T)

When a bullet is fired from a gun, its potential energy is converted into— Kinetic
energy

RRB ALP. & Tec. 29-08-
2018(Shift-III)

At the time of releasing an arrow in a drawn bow, the potential energy of the
bow change in— Kinetic energy

RRB ALP. & Tec. 30-08-
2018(Shift-T)

There is a body falling from a mountain has— Both Kinetic energy and
Potential energy

RRB Group-D 17-09-
2018(Shift-11II)

Falling coconut has— Kinetic energy

RRB Group-D 24-09-
2018(Shift-1I)

The type of energy is associated with falling coconuts, high speed cars, rolling SSC CGL Mains -
stones and flying planes— Kinetic energy 26/10/2023 (Shift-I)
Hydroelectric power station generates electricity by using the power of water acting SSC CHSL 09/06/2022

on turbines and rotating the shaft. By rotating the shaft of the turbine the potential
energy of the water is converted into— Kinetic energy

(Shift-IT)

The energy conversion that happens in the process called photosynthesis—
Light energy convert into
chemical energy

SSC CGL (Tier-)-2019 —
04/03/2020 (Shift-IIT)

Wind turbines convert energy into mechanical power— Kinetic

SSC CGL(Tier-)-
13/06/2019 (Shift-II)

Kinetic energy depends on— Mass and velocity of the moving body

SSC CGL (TIER-1) 02-09-

2016, 4.15 pm

The unit of measurement of energy— Joule SSC CHSL 19/10/2020
(Shift-I)

The scientific principles is mainly belong to the generation of hydroelectric SSC JE Electrical —

power— Conversion of gravitational potential energy into kinetic energy into
electrical energy

24/03/2021 (Shift-1T)

Mechanical energy is the sum of potential energy and— Kinetic energy SSC MTS 06/10/2021
(Shift-I)

D. Mass
The quantity measures the inertia of a body is— Mass RRB Group-D 26-10-2018
(Shift-11T)
RRB Group-D 31-10-

2018 (Shift-III)

Measurement of mass of an object is called measurement of— Inertia RRB Group-D 11-10-2018

(Shift-IT)

The amount of matter contain in an
object is called the mass of that object

The definition of mass is—

RRB Group-D 24-10-2018
(Shift-III)
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Mass / Volume = Density

RRB Group-D 01-10-2018
(Shift-1T)

The density of an object is defined as its— Mass per unit volume

ALP Stage -IT 22.01.2019
(shift - T)

Mass per unit volume of substance is called— Density

RRB Group-D 05-10-2018
(Shift-T)

RRB-JE 30.08.2019, Tst
Shift

The mass of an object— Remains same everywhere

(SSC 10+2 CHSL 27.01.17,
4.15 pm)

A body having very high mass is bound to have high— Inertia

SSC JE Electrical —
24/03/2021 (Shift-II)

E. Newton's Law of Motion

When a person jumps from the boat to the river, the boat goes backwards is an
example of —
Newton's third law of motion

RRB Group-D 24-10-2018
(Shift-T)

An example of Newton's third law of motion is— Rocket launching, swimming,
hitting a Basball, Rawing a Boat etc.

RRB Group-D 17-09-2018
(Shift-T)
RRB Group-D 02-11-2018
(Shift-T)

Newton's laws do not hold good for particles— Move with velocity comparable

to the velocity of light

RRB Group-D 20-09-2018
(Shift-11T)

In the absence of gravitational force of attraction, propulsion on the rocket is—

RRB Group-D 16-11-2018

Stable (Shift-11)

The tendency of an object to resist change in static or dynamic condition is RRB Group-D 20-09-2018
called— Inertia (Shift-1I)
The tendency of an object at rest stays at rest and an object in motion stays in | RRB JE 02.06.2019 (Shift-
motion is called— Inertia )]
RRB ALP & Tec. (17-08-18

Shift-I)

The stock of books lying on the table does not move due to— Inertia RRB NTPC Stage I*

26.04.2016 (Shift-II)

The tendency of stationary objects to remains at rest or in motion at the constant

RRB ALP & Tec. (10-08-18

velocity is called— Inertia Shift-I)
A runner continues to run after crossing the finish line as the— Inertia of motion | RRB ALP & Tec. (20-08-18
drives it forward Shift-1T)

The law of inertia was propounded by— Isaac Newton

RRB NTPC 05.04.2016
(Shift-T) Stage I*

When the car turns on a curved road, the passengers sitting in it feel a force on
themselves in the opposite direction of the center, this force is due to— Inertia

RRB Group-D 16-
11-2018 (Shift-I)

The maximum value of inertia is— Trains and aeroplanes

RRB Group-D 16-10-2018
(Shift-T)

If an object of mass m is raised to height h from the ground, force is required for
this action. The minimum force required to lift an object is the same as—
Weight of the object

RRB Group-D 15-10-2018
(Shift-11T)

The rate of change of momentum of an object is proportional to the applied
unbalanced force in the direction of the force. This rule is known as—
Newton's Second Law of Motion

RRB NTPC 15.02.2021
(Shift-IT) Stage Ist

If we move the tree branch fast then some of the leaves get detached from the
tree due to — Inertia

RRB Group-D 04-12-2018
(Shift-IT)

Newton's first law of motion— When a bus starts abruptly, the passengers

are jerked backwards

RRB Group-D 05-11-2018
(Shift-III)

Total number of law of motion did Isaac Newton formulate— Three

RRB NTPC 01.04.2021
(Shift-IT) Stage Ist
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The three laws of motion were proposed by— Newton RRB NTPC 08.01.2021
(Shift-IT) Stage Ist
The equation for Newton's second law of motion is— F=ma RRB NTPC 12.02.2021

(Shift-I) Stage Ist
RRB Group-D 05-12-
2018 (Shift-I)

The other name of Newton's first law of motion is— Law of inertia

RRB NTPC 04.01.2021
(Shift-IT) Stage Ist

Second law of motion is related to— Momentum

RRB Group-D 30-10-2018
(Shift-T)

Newton's second law of motion is— It is helpful to understand the

effects of force

RRB Group-D 27-11-2018
(Shift-IIT)

Newton's Third Law of Motion is— The force is applied on different

body in opposite direction

RRB Group-D 12-10-2018

(Shift-I)

RRB NTPC Stage I"
26.04.2016 (Shift-IT)

The famous law of motion is given by- Newton | Group-D 26-10-2018 (Shift-
1))
The rate of change in momentum of a body is proportional to— Applied force RRB Group-D 22-09-2018

(Shift-IIT)

The second law of motion shows— The rate of change of momentum of
an object is proportional to the net force applied
to the object in the direction of net force

RRB Group-D 22-09-2018
(Shift-11)

1 Kgx 1 ms?, It is said— 1 newton RRB Group-D 15-11-2018
(Shift-1T)
The year of publication of Newton's laws of motion was— 1687 RRB Group-D 27-11-2018

(Shift-IIT)

A fielder turn his arms backwards while catching a fast approaching cricket ball

RRB Group-D 15-11-2018

because— He experiences less force over a longer period of time (Shift-I)
Shot from a rifle. The kinetic energy of the rifle if the rifle comes backwards RRB Group-D 07-12-2018
without stopping will be— Less than the kinetic energy of the bullet (Shift-I)
The product of mass and acceleration is called— Force RRB Group-D 12-10-2018

(Shift-I)
A sailor jumps in the forward direction, the boat drifts backwards. The law of | RRB ALP & Tec. (31-08-18
Newton represent the example— Third law of motion Shift-11T)

Rocket launching is based on— Newton's third law of motion

RRB Group-D 15-10-2018
(Shift-11T)

The force between the two objects is always equal and opposite. Newton's law

RRB ALP & Tec. (31-08-18

gives idea about the statement of— Third law of motion Shift-I)
When a stationary bus starts moving, the people standing in it fall in the back | RRB ALP & Tec. (30-08-18
direction. It is an example of- Newton's first law of motion Shift-II)
A man is standing in a boat in still water. If he tries to walk towards the shore, RRB J.E. (14.12.2014,

the boat will— Move away from the shore

Green paper)

When bullet is fired from the gun, the gun pushes in the opposite direction. This
is an example of Newton's law— Third law of motion

RRB ALP & Tec. (13-08-18
Shift-II)

Philosophiaec Naturalies principia mathematica, Also known as principia,
published in 1687, is great work of scientist— Isaac Newton

SSC CHSL 06/06/2022
(Shift-III)

The laws of newton gives quantitative definition of force is—
Second law of motion

SSC CGL (Tier-T)
12/04/2022 (Shift-T)

The inertia of an object is measured by its— Mass SSC CHSL 05/08/2021
(Shift-1T)
Inertia is— Tendency to resist change in the current state | (SSC 10+2 CHSL 21.01.17,
1.15 pm)
Unless acted upon by an external force, an object at rest remains at rest, or if in SSC JE Mechanical -

motion, it continuous to move in a straight line with constant speed. It is stated
by— Law of inertia

27/09/2019 (Shift-1T)
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For every action, there is an equal and opposite reaction, is Newton’s—
Third law of motion

(SSC 10+2 CHSL 08.01.17,
10 am)

A cannon recoil after firing because— Newton's third law of motion

SSC CGL (TIER-1) 10-09-
2016, 1.15 pm

Newton's first law is also known as— Law of Inertia

(SSC 10+2 CHSL 20.01.17,
4.15 pm)

How many laws of motion did Isaac Newton formulate— 3

SSC JE Mechanical -
27/09/2019 (Shift-II)

A force acts on an object which is free to move. If we know the magnitude of the
force and the mass of the object, then newton's 2nd law of motion enables as to
determine the object's— Acceleration

SSC MTS 7-10-2017 (Shift-
D

An object at rest will remain at rest and an object in motion will remain in motion
until and unless it is acted upon by a external force. This is Newton’s—
First law of Motaion

(SSC 10+2 CHSL 07.01.17,
4.15 pm)

Rocket propulsion technology works of the scientific principles—
Newton's third law of motion

SSC JE Civil — 23/03/2021
(Shift-T)

F. Force

The work done by negative force is— When an object moves in the

opposite direction of force

RRB Group-D 01-12-2018
(Shift-IT)

The force exerted on any object by a solid surface in the normal direction is—
Normal force

RRB Group-D 01-12-2018
(Shift-1I)

An example of pulling is— Hoisting the flag

RRB Group-D 27-11-2018
(Shift-11II)

All forces have— Both magnitude and direction

RRB Group-D 27-11-2018
(Shift-I)

The force of gravity acting on an object is known as— Weight

RRB Group-D 17-09-2018
(Shift-T)

When two equal forces are applied against a body in the opposite direction, the
total force used on the body will be— Zero

RRB Group-D 16-10-2018
(Shift-III)

An object moves at a constant speed when no acting on it— Force

RRB Group-D 04-10-2018
(Shift-T)

When a repulsive force 'F' is applied in the opposite direction, the angle between
the two directions will be— 180°

RRB Group-D 20-09-2018
(Shift-III)

The physical units that changes or tends to change the state of rest or uniform

RRB ALP & Tec. (21-08-18

motion of an object— Force Shift-11)
An object moves at a constant speed when there is- No force on it RRB Group-D 04-10-2018
(Shift-I)
The effect of balanced force applied on an object is— Change in shape of RRB Group-D 04-12-2018
an object (Shift-11T)
Mass x acceleration = Force RRB Group-D 25-09-2018
(Shift-1I)
RRB ALP & Tec. (13-

08-18 Shift-III)
RRB Group-D 28-11-2018
(Shift-I)
RRB Group-D 04-10-2018

(Shift-I)

The effect of stress depends on— Area RRB Group-D 26-09-2018
(Shift-1T)
If an object is grabbed by both the ends and the force applied on it is called— RRB Group-D 16-10-2018
Stretch (Shift-I)
The quality to not change in shape is called— Rigidity RRB Group-D 05-10-2018

(Shift-T)
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When two equal forces are acting on a body and in the opposite direction, the

RRB Group-D 28-09-2018

force acting on the body becomes— Zero (Shift-1I)
In science, a push or a pull on an object is called— A force RRB Group-D 10-10-2018
(Shift-1I)

SSC JE Civil 29.01.2018

(Shift-III)

Force between two bodies, always— Used in the same and opposite directions

RRB Group-D 16-10-2018
(Shift-IIT)

The interaction between two objects— Force RRB Group-D 05-12-2018
(Shift-111)

Dimension of force are— [MLT | SSC CHSL (Tier-1) -
14/08/2023 (Shift-II)

The quantity is measured using a torsion balance is— Force SSC CHSL 10/08/2021

(Shift-111)

The external agency applied on a body to change its state of rest or uniform
motion is— Force

SSC CGL—(Tier-I)
18/08/2021 (Shift I)

A characteristic of conservative force is—
Work done by it is completely recoverable

SSC CGL—(Tier-I)
20/08/2021 (Shift I1T)

The direction of torque is— Perpendicular to the direction of applied force

(SSC 10+2 CHSL 01.02.17,

10 am)
The SI unit of Torque is— Newton-meter | (SSC 10+2 CHSL 29.01.17,
10 am)
The perpendicular distance between point of application of force and axis of | (SSC 10+2 CHSL 17.01.17,
rotation is— Moment arm 4.15 pm)
A larger force on a rotating body results in larger— Torque | (SSC 10+2 CHSL 25.01.17,
10 am)
In science, a push or a pull on an object is called as— Force SSC JE Civil - 29/01/2018
(Shift-11)

G. Linear Momentum/Impulse
The product of mass and velocity is called— Momentum RRB Group-D 25-09-2018

(Shift-IT)
RRB Group-D 26-09-2018
(Shift-III)
RRB Group-D 23-10-2018
(Shift-III)

Momentum = Mass x velocity

RRB Group-D 23-10-2018
(Shift-IT)

Linear momentum is equal to— Mass X velocity

RRB Group-D 05-11-2018
(Shift-III)

Momentum increases 2 times and Kinetic
energy increases 4 times

If the velocity is doubled, then—

RRB Group-D 05-11-2018
(Shift-I)

RRB Group-D 26-

11-2018 (Shift-11I)

In a collision, always saving of— Momentum RRB Group-D 05-12-2018
(Shift-I)

The momentum of an object depends on— Both mass and velocity of the object RRB Group-D 04-10-2018
(Shift-11)

RRB Group-D 01-12-
2018 (Shift-1T)

Product of momentum expressed as— Mass x velocity

RRB ALP & Tec. (09-08-18
Shift-T)

The momentum consists of— Magnitude and direction

RRB Group-D 24-09-2018
(Shift-III)

The kinetic energy of a light and a heavy body is the same. The greater
momentum will have— Heavy mass

RRB Group-D 12-12-2018
(Shift-III)
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If the uncertainty in position and momentum are equal then there will be
uncertainty in velocity— 12m +h/=

SSC CHSL (Tier-1) —
10/08/2023 (Shift-II)

The combined effect of mass and velocity is taken into account by a physical quantity

SSC MTS 9-10-2017 (Shift-

called— Momentum 11T)

Impulse is equal to— Change in momentum (SSC 10+2 CHSL 16.01.17,
1.15 pm)

Rate of change of momentum is— Force | (SSC 10+2 CHSL 08.01.17,
4.15 pm)

H. Principle of Conservation of Momentum

Rockets work on the principle of conservation of— Momentum RRB NTPC 31.01.2021

(Shift-T) Stage Ist

In a system when there is a collision between two nonelastic bodies, it consists
of— The kinetic energy is changed but the momentum is conserved

RRB Group-D 16-
11-2018 (Shift-I)

Flying a rocket can be understood by— Momentum-conservation law

RRB Group-D 12-11-2018
(Shift-IT)

According to principles a rocket works in space based on—
Principle of conservation of momentum

RRB Group-D 01-10-2018
(Shift-1T)

I. Distance and Displacement

The physical quantity that can never be negative— Distance

RRB Group-D 12-10-2018
(Shift-IT)

It is used to describe the overall motion of an object and to find its final position
in terms of its initial position at a given time— Distance and displacement

RRB Group-D 10-12-2018
(Shift-III)

The product of velocity and time provides— Displacement RRB Group-D 25-09-2018

(Shift-I)
If the distance travelled by an object is zero, the displacement of the object will | RRB ALP & Tec. (14-08-18
be— Zero Shift-III)

An object is thrown upwards. It reaches a height of 100 meters and then returns
to the thrower. so— The actual displacement of the object is zero

RRB Group-D 10-12-2018
(Shift-11T)

When the position of an object is continuously changing with time relative to an
observer— Object is in dynamic condition

RRB Group-D 31-10-2018
(Shift-11T)

Formula for distance is— Speed x time

(SSC 10+2 CHSL 10.01.17,
1.15 pm)

J. Speed/Velocity

The rate of change of position of an object with respect to a frame of reference, it

RRB NTPC 03.04.2016

is a function of time is called— Velocity (Shift-II) Stage I**
RRB Group-D 13-12-

2018 (Shift-1T)

A graph showing the velocity of an object over time is called— Velocity- RRB Group-D 22-10-2018
time graph (Shift-I)

Average speed and average velocity indicate the speed of the object— During RRB Group-D 09-10-2018
The given interval (Shift-I)

The speed of a bus on a crowded road is an example of— Uneven RRB Group-D 24-10-2018
(Shift-I)

The relation of speed, distance and time is— S=D/T RRB Group-D 31-10-2018
(Shift-I)

The instantaneous velocity and average velocity are equal when the object—
Has zero acceleration

RRB Group-D 02-11-2018
(Shift-1T)

The rate of change of displacement is called— Velocity

RRB Group-D 05-12-2018
(Shift-I1T)

RRB Group-D 03-10-2018
(Shift-T)

RRB ALP & Tec. (29-08-18
Shift-I)

If an object covers an uneven distance in the same time interval, it is called—
Uneven speed

RRB Group-D 30-10-2018
(Shift-11T)
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The motion of an object in a specified direction is called— Velocity

RRB Group-D 01-11-2018
(Shift-1T)
RRB Group-D 04-12-2018
(Shift-1T)

The speed of an object moving in a certain direction is known as— Velocity

RRB Group-D 11-10-2018
(Shift-T)

The rate of change in displacement over time is called— Velocity

RRB Group-D 22-09-2018
(Shift-T)

The distance covered by an object in unit time is called— Speed

SSC MTS 11-10-2017
(Shift-IT)

An object is said to be in motion if its speed keeps changing while moving along
a straight line— Non uniform motion

SSC MTS 10-10-2017
(Shift-III)

K. Projectile Motion

For maximum range, the angle of projection should be— 45°

RRB Group-D 16-11-2018
(Shift-III)

The path of a projectile is called its— Trajectory (SSC 10+2 CHSL 22.01.17,
1.15 pm)

In a projectile motion, a large angle with the horizontal produces— High | (SSC 10+2 CHSL 23.01.17,
trajectory 1.15 pm)

A particle is thrown vertically. When it reaches the highest point, it has— SSC CGL (TIER-1) 09-09-
A downward acceleration 2016, 1.15 pm

If a ball is thrown up, the quantity does not change— Acceleration | (SSC 10+2 CHSL 09.01.17,
4.15 pm)

In projectile motion, the total flight time is—
Twice the time required to reach the maximum height

SSC CGL (Tier-)-
19/06/2019 (Shift-IIT)

In a projectile motion, the horizontal range achieved is same whether the body is

(SSC 10+2 CHSL 11.01.17,

projected at theta (0) and— 90 degree minus theta 10 am)
A cannon ball is fired. The motion of this ball is an example of— Projectile (SSC 10+2 CHSL 03.02.17,
motion 1.15 pm)

If an object is thrown upwards, then velocity, when it reaches its maximum | (SSC 10+2 CHSL 10.01.17,
height— 0 m/s 10 am)
During the motion of a projectile fired from the earth surface— SSC CGL (TIER-1) 11-09-
Horizontal component of its velocity remains constant 2016, 1.15 pm

L. Acceleration

Negative acceleration is opposite to the— Velocity direction

RRB ALP & Tec. (09-08-18
Shift-T)

When an object is moving at the same speed, its acceleration will be— Zero

RB Group-D 01-10-2018
(Shift-1T)

Zero acceleration means— The velocity of the object is constant

RRB Group-D 12-12-2018

(Shift-I)

Positive acceleration means— The velocity of the object increases RRB Group-D 04-12-2018
(Shift-1T)

Acceleration of an object moving at uniform velocity is— Zero RRB Group-D 12-12-2018
(Shift-11T)

The dimension of acceleration is— LMT RRB Group-D 18-09-2018

(Shift-IIT)

Retardation means— Negative acceleration

RRB Group-D 03-12-2018
(Shift-1T)

The velocity of an object is proportional to the time elapsed. The object has—
Uniform acceleration

RRB Group-D 07-12-2018
(Shift-11T)

Force / mass = Acceleration

RRB Group-D 06-12-2018
(Shift-III)

When acceleration is negative, the velocity of a body— Will decrease

RRB Group-D 19-09-2018
(Shift-III)
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The change in velocity per unit time of an object is—

RRB Group-D 05-12-2018

Acceleration (Shift-1I)
The speed of an object falling freely is an example of— Uniform acceleration RRB Group-D 25-09-2018
motion (Shift-11T)

The pairs always have the same direction— Force, acceleration

RRB Group-D 15-11-2018
(Shift-III)

The slope of velocity-time graph represent— Acceleration RRB Group-D 12-11-2018
(Shift-T)
Retardation means an object operates from— Decreasing velocity RRB Group-D 07-12-2018
(Shift-T)
The exponent of second in the S.I. unit of acceleration is— -2 SSC CGL 18/04/2022
(Shift-T)

SSC CGL (Tier-I)
18/04/2022 (Shift-T)

Acceleration is equal to the rate of change of— Velocity

SSC CGL (Tier-I)
20/04/2022 (Shift-IIT)

Acceleration is— Inversely proportional to mass and

(SSC 10+2 CHSL 16.01.17,

Directly proportional to force 4.15 pm)
The slope of a velocity and time graph is represented by— Acceleration (SSC 10+2 CHSL 03.02.17,
4.15 pm)

M. Equation of Linear Motion

Third law of motion provides a relation between— Position and velocity

RRB Group-D 12-12-2018
(Shift-III)

In rectilinear motion, the objects move along— Straingt line

RRB JE. Stage - I1 01-09-
2019 (Shift - I1TI)

The second equation of motion indicates a relationship between position and—
Time

RRB Group-D 04-12-2018
(Shift-1T)

The second equation of motion, that show the relation between—
Position and time

RRB ALP & Tec. (10-08-18

Shift-11T)

RRB Group-D 22-09-2018

(Shift-T)

RRB Group-D 28-09-2018
(Shift-T)

The given equation, s = ut + % at” show the relation between—
Position-Time

SSC CHSL 03/06/2022
(Shift-T)

N. Friction

A car stops on applying brakes mainly due to— Friction

RRB NTPC 19.04.2016
(Shift-T) Stage I*

If no force is applied on a moving object, the reason for stopping it will be—
Friction

RRB Group-D 22-09-2018
(Shift-I1T)

It is a result of surface irregularities between two surfaces— Friction

RRB Group-D 18-09-2018
(Shift-I1T)

Frictional force applied to— Opposite to the direction of force

RRB Group-D 22-09-2018
(Shift-I)

When a bicycle is driven by constant acceleration then the friction force on the
rear wheel is— In the forward direction

RRB SSE 21.12.2014

Positive
effect of friction

The characteristic is used in the braking pads of cars—

RRB ALP & Tec. (14-08-18
Shift-IIT)

The work done by the force of friction is— Always negative

RRB Group-D 04-12-2018
(Shift-11T)

RRB Group-D 27-

11-2018 (Shift-11II)
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Holding a glass tumbler is difficult because— Frictions get reduced

RPF JE (Electrical)
19.09.2019 (Shift - I1I)

A friction considered a self-adjusting force is— Static Friction

SSC MTS - 15/05/2023

(Shift-I)

We are able to walk on earth without slipping because of— Frictional force SSC CGL (TIER-1) 28-08-
2016, 10 am

The force that makes a vehicle to stop when break is applied is called— SSC CGL (TIER-1) 07-09-
Frictional force 2016, 4.15 pm

If a body slides over a surface, the force resisting the motion between them is | (SSC 10+2 CHSL 10.01.17,
called— Friction 4.15 pm)

O. Simple Harmonic Motion/Rotational Motion

The pendulum acts like a harmonic oscillator, so it is used in— Grandfather's
Watch, Metronomes, Seismology etc.

RRB NTPC Stage I*'
22.04.2016 (Shift-11T)

When the car takes a turn, the force that pushes us outward is— Centrifugal
force

RRB NTPC 06.04.2016
(Shift-T) Stage I*

The process of separating cream from the milk used in dairy is called—

RRB NTPC Stage I*'

Centrifugation 29.04.2016 (Shift-III)
When an object produces uniform circular velocity, there is a change in— RRB ALP & Tec. (14-08-18
Direction Shift-1T)

Motion of a spinning top is an example of— Centripetal force

RRB NTPC 06.04.2016
(Shift-IT) Stage I

The function of the pendulum clock of a very old model was completely—
Mechanical

RRB NTPC 11.04.2016
(Shift-II) Stage I

The force that acts in a roller coaster ride— Centripetal

RRB NTPC Stage I
28.04.2016 (Shift-T)

If a body moves on a curved path in transformed motion, this motion will be called—
Curvilinear motion

RRB Group-D 12-11-2018
(Shift-1I)

The required fixed force to drive a body in uniform circular motion is called—
Centripetal force

RRB Group-D 12-
11-2018 (Shift-I)

When an object rotates at a uniform circular motion. There is change at each
point in— Velocity

RRB Group-D 03-12-2018
(Shift-111)

If the length of a simple pendulum is increased then its time period—
Will ncrease

RRB J.E. (14.12.2014,
Green paper)

Uniform
circular motion

The motion of a body of constant speed in a circular path is—

RRB Group-D 16-10-2018
(Shift-IIT)

When an object moves along a circular path, the force acting on the rotating

RRB Group-D 17-09-2018

the body moves in a circle, the centre located on a line is called—
The axis of rotation

object towards the center is called— Centripetal force (Shift-I)
The time taken by a oscillator to complete an amplitude is— Periodic RRB Group-D 25-09-2018
(Shift-11T)

The gravitational force of attraction between a satellite and the Earth RRB Group-D 18-09-2018
accelerates— Centripetal force (Shift-1T)
The speed of the boy sitting on the swing is— Periodic RRB Group-D 31-10-2018
(Shift-1I)

If in a motion, the axis of the rotation passes through an object, then the motionis | (SSC 10+2 CHSL 18.01.17,
called— Spin motion 4.15 pm)
The two kinds of Rotatory motion are— Spin and Orbital motion | (SSC 10+2 CHSL 17.01.17,
4.15 pm)

If an object moves in a purely rotatory motion,. The each constituent particle of SSC JE Mechanical -

27/09/2019 (Shift-1T)

The quantity same on every point on a rotating body is— Angular velocity

(SSC 10+2 CHSL 22.01.17,
1.15 pm)
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When net torque is zero then—  Angular momentum will be constant and the

(SSC 10+2 CHSL 20.01.17,

the object is in rotation is equilibrium 4.15 pm)
The relationship between Moment of Inertia, Torque and Angular acceleration is— (SSC J.E. 01.03.17, 10:00
Angular acceleration = Torque/Moment of inertia am)
The expression for the time period (T) of a particle of mass (m) performing (SSC J.E. 02.03.17, 2:45
Simple Harmonic Motion, where k is a constant, is— T = 2xn,/(m/K) pm)
Work done by centripetal force is— Zero | (SSC10+2 CHSL 30.01.17,
1.15 pm)
The angle between centripetal acceleration and tangential acceleration is— 90° (SSC 10+2 CHSL 20.01.17,
1.15 pm)
The potential energy (U) of a particle executing simple harmonic motion, where (SSC J.E. 03.03.17,10:00
K is a constant and x is displacement, is— U = 0.5kx’ am)
Time period of a simple pendulum, where ¢ is length of the pendulum and g is (SSC J.E. 02.03.17, 10:00
am)

acceleration due to gravity, is— 2n (l/g)

The time taken by the pendulum to complete one oscillation is called—
Time period

SSC MTS 10-10-2017
(Shift-IT)

The motions of a simple pendulum is an example of— Periodic motion

SSC MTS 11-10-2017

from a rigid stand by a thread. The metallic ball/ piece of stone is called the—
Bob of the pendulum

(Shift-1)

Time period of a pendulum at the Moon to that of on the Earth will be— SSC JE Civil - 27/01/2018
Increases (Shift-I)

A simple pendulum consists of a small metallic ball or a piece of stone suspended SSC JE Mechanical —

22/03/2021 (Shift-T)

3. Gravitation

A. Newton's Gravitational Law

The Law of Gravitation was given by— Isaac Newton

RRB NTPC 27.02.2021
(Shift-I) Stage Ist

Gravitational force is defined by the force of attraction between—  Two masses RRB Group-D 08-10-2018
(Shift-I)

Every object in the universe attracts another object with a force, it is inversely RRB Group-D 12-10-2018
proportional to the square of— Their distance (Shift-I)
Each object of the universe attracts another object by a force is proportional to— RRB Group-D 15-11-2018
Product of their masses (Shift-I)

A weak force is— Gravitational force

RRB Group-D 26-10-2018
(Shift-1T)

The value of gravitational constant (G) is— 6.6743x107"" N-m’ / kg

RRB Group-D 20-09-2018
(Shift-T)

RRB Group-D 05-12-2018
(Shift-I)RRB Group-D 23-
10-2018 (Shift-1I1T)

The change in the gravitational force between two objects when the mass of one
of the two objects is doubled is— The force of gravitation is doubled

RRB JE 25.05.2019 (Shift-
D

The force of gravity on an object is called— Weight

RRB Group-D 22-10-2018
(Shift-11T)

Discovery of universal gravitational constant 'G' had done by— Henry Cavendish

RRB ALP & Tec. (09-08-

18 Shift-1IT)

RRB Group-D 22-10-2018
(Shift-T)

RRB Group-D 30-10-2018
(Shift-IT)

The universal law of gravity applies to— Any pair of objects RRB Group-D 09-10-2018
(Shift-T)
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F = GMnv/d’, G is called in the formula— Universal gravitational constant

RRB Group-D 05-11-2018
(Shift-11T)

If the distance between two particles increases, then the effect on the force of
gravitational between them is— Decreases

RRB Group-D 12-11-2018
(Shift-11II)

Earth attracts things towards itself this is due to— Gravitational force

RRB Group-D 07-12-2018
(Shift-I1II)
RRB Group-D 25-10-2018

(Shift-11)

The force of attraction between any two physical objects is called— RRB Group-D 16-11-2018
Gravitational force (Shift-1I)

RRB Group-D 04-10-2018

(Shift-11)

The force that maintains the structure of our solar system— Gravitational RRB Group-D 30-10-2018
(Shift-I)

Symbol of universal gravitational constant is— G RRB Group-D 10-10-2018
(Shift-11)

The value of acceleration due to gravity does not depend on—  The mass of the | RRB Group-D 08-10-2018
object falling below 'm’ (Shift-1T)

RRB Group-D 10-10-2018
(Shift-11I)

An example of an action at a distance force is— Gravity

SSC CPO-SI 23/11/2020
(Shift-IT)

The name of the force with that earth pulls everything towards itself is— Gravity

SSC CHSL 12/10/2020
(Shift-TIT)

Law of gravitation applies to— Any pair of bodies

(SSC 10+2 CHSL 01.02.17,
4.15 pm)

As per Newton’s law of gravitation, the force between two bodies is—
Directly proportional to the product of their masses

SSC CPO (SI)-12/12/2019
(Shift-IT)

The value of G (gravitational constant) was first determined by—Lord Cavendish

(SSC 10+2 CHSL 30.01.17,

force of attraction between them— Becomes one-ninth of the original

1.15 pm)
With reference to gravity, G is called— Gravitational constant | (SSC 10+2 CHSL 23.01.17,
4.15 pm)
If the distance between two objects increases three-times, then the gravitational SSC JE Mechanical —

22/03/2021 (Shift-1I)

B. Gravity and Motion Under Gravity

Free fall possible only in— vacuum

RRB Group-D 19-09-2018

(Shift-T)
The work done by gravity depend on— At the difference of the vertical RRB Group-D 22-10-2018
heights of the initial and final positions of the object (Shift-I)

The value of ‘g’ (gravity) varies from the value of ‘R’ (radius). A student would

RRB NTPC 02.03.2021

observe minimum ‘g’ at the— Equator (Shift-I) Stage Ist
The point where the entire weight of an object functions is called— Center of RRB Group-D 18-09-2018
gravity (Shift-I)

Unit of 'g', same as unit of acceleration, i.e. is— ms” RRB Group-D 24-10-2018
(Shift-111)

The acceleration due to gravity is maximum at— Poles ALP Stage -11 23.01.2019
(shift - II)

Astronauts feel zero weight inside the— Spacecraft RRB NTPC 11.04.2016
(Shift-IT) Stage I**

Acceleration due to gravity g= GM/R? RRB Group-D 10-12-2018
(Shift-T)

The weight of a body at the center of the Earth will be— Zero RRB JE. 2014 (14.12.2014

Set-2, Red Paper)

The effect on the rock brought from the lunar surface will be—
Its weight will change

RRB Group-D 27-11-2018
(Shift-III)
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The weight of an object is maximum— At the poles RRB Group-D 17-09-2018
(Shift-1I)

The movement of the Moon around the Earth is due to— Gravitational force RRB Group-D 24-10-2018
(Shift-I)

The weight of the body on the pole compared to the weight of a body on the RRB Group-D 09-10-2018
Earth's equator will be— The weight of the body on the poles will be greater (Shift-1I)

than its weight on the equator

The weight of an object on the Earth will be on the Moon— 6 times | RRB Group-D 18-09-2018
(Shift-I)

RRB Group-D 08-10-2018

(Shift-I)

The value of 'g' decreases according to— Height RRB Group-D 08-10-2018
(Shift-1I)

The condition of the body occur during free fall is— Weightless RRB Group-D 20-09-2018
(Shift-I)

The value of 'g' increases with the— Decrease in height RRB Group-D 10-10-2018
(Shift-I)

When a body is moved from the equator to the north and south poles, its weight— RRB Group-D 22-10-2018
Increases (Shift-1I)

The minimum weight of a body is at— Equator RRB Group-D 24-10-2018
(Shift-1I)

When an object reaches its top when thrown upwards, its— The velocity is zero,
and its acceleration is about 10 m / s

RRB NTPC 02.04.2016
(Shift-IIT) Stage I*

The center of gravity of an object hanging freely is— Just below the point
of hanging

RRB Group-D 12-10-2018
(Shift-11T)

If a person stands on the weight scale inside the lift and the lift starts moving
upwards then— The scale will show more weight

RRB NTPC 07.04.2016
(Shift-T) Stage I*

The force of gravitational exerted on an object is— Weight

RRB NTPC 03.04.2016
(Shift-IT) Stage I*

A stone thrown towards the sky return to the earth because—

RRB Group-D 19-09-2018

There is a gravitational force which pulls it towards the ground (Shift-1I)
Gravitational acceleration is represented by— The small letter 'g' in English RRB JE 23.05.2019 (Shift-
V)

An iron ball and wooden ball of the same radius are released from a height H in
vacuum. The times taken by both of them to reach the ground are— Exactly equal

SSC MTS 11-10-2017
(Shift-III)

If speed of rotation of the earth increases, the weight of the body— Decreases | (SSC CGL (TIER-1) 11-09-

2016, 4.15 pm)

The value of g is— 9.8 m/s’ SSC CHSL 17/03/2020

(Shift-11)

The value of acceleration due to gravity (g) at a distance of 2R from the surface | (SSC 10+2 CHSL 18.01.17,

of earth, where R is the radius of earth is— g/9 10 am)

Weightlessness experienced while orbiting the earth in space ships because— (SSC CGL (TIER-1) 08-09-

Zero gravity 2016, 4.15 pm)

If the radius of the earth decreases and its mass remains the same, then the value | (SSC 10+2 CHSL 23.01.17,

of “acceleration due to gravity” will be— Increase 10 am)

The apparent weight of a person in a lift which is moving down with uniform | (SSC 10+2 CHSL 20.01.17,

acceleration is— less than the weight when the person is stationary 10 am)

Acceleration due to gravity on a planet decreases with— (SSC 10+2 CHSL 22.01.17,

Increase in altitude from surface of the planet 4.15 pm)

The value of acceleration due to gravity at the centre of earth is— 0 | (SSC10+2 CHSL 24.01.17,

1.15 pm)

The weight of an object is maximum-— On the poles of the earth | (SSC CGL 03-09-2016, 1.15

pm)

The weight of a body at the centre of earth is— Zero (SSC CPO (TIER-1) 2016)
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If an object is dropped from a height and there is no air resistance—

(SSC 10+2 CHSL 07.01.17,

Its speed will increase 4.15 pm)
Weight of a person at a height of R, from the surface of the earth, where R, is the | (SSC 10+2 CHSL 18.01.17,
radius of the earth— Becomes one—fourth 1.15 pm)
If an object, on a free fall from a certain height, reached on the ground in 1 (SSC 10+2 CHSL 19.01.17,
second, its velocity on the impact with the ground is— 9.8 m/s 1.15 pm)
Weight (W) of a body can be given by the formula— W =mg (SSC 10+2 CHSL 24.01.17,
4.15 pm)

C. Satellite Motion/Escape Velocity
The laws of planetary motion proposed by— Johannes Kepler RRB NTPC 20.01.2021
(Shift-I) Stage Ist
RRB NTPC 27.03.2021

(Shift-1I) Stage Ist

The path of revolving motion of planet is— Elliptical RRB NTPC 16.04.2016
(Shift-T) Stage I*
Approximate escape velocity on the surface of the Earth— 11.2Kkm/s RRB NTPC 18.01.2017

(Shift-T) Stage 1™

The terms Geocentric and Heliocentric refer to— Laws governing the motion
of planetary bodies around Earth and Sun

RRB NTPC 04.04.2016
(Shift-TI) Stage I

The period of revolution of a certain planet in an orbit of radius R is T. Its period
of revolution in an orbit of radius 4R will be— 8T

(SSC CPO (TIER-1) 2016)

Once a Satellite is placed in orbit, then the only force that controlling its speed is
the force of— Gravity

SSC CPO (SI)-12/12/2019
(Shift-IT)

kepler's is first law is also known as — Ellipse law

SSC MTS-20/08/2019
(Shift-TIT)

4. Properties of Matter

A. Elasticity

When a coil spring is compressed, the work is done on the spring. The elastic
potential energy is— Increasing

RRB Group-D 04-12-2018
(Shift-1T)

In CGS system, the unit of strain is— Dimensionless (No unit)

RRB SSE (21.12.2014, Set-
08, Green paper)

The ability of a material to deform without breaking is called— Plasticity RRB J.E. 2014 (14.12.2014
Set-2, Red Paper)

For perfectly elastic bodies, the value of coefficient of restitution is— 1.0 RRB J.E. 2014 (14.12.2014
Red Paper)

The spring balance works on the principle of— Hooke’s Law | (SSC CGL (TIER-1) 31-08-
2016, 4.15 pm)

The strain produced in a body is directly proportional to the stress applied on it, is | (SSC 10+2 CHSL 15.01.17,
called— Hooke’s law 10 am)

B. Surface Tension/ Capillarity/ Viscosity

The force of attraction applied between molecules of the same substance is
called— cohesive force

RRB NTPC 11.02.2021
(Shift-I) Stage Ist

The friction in liquids is called— Viscosity

RRB NTPC 08.04.2021
(Shift-1I) Stage Ist

A drop of a fluid is combined because the attraction of its particles minimizes its
possible area. This phenomenon is called— Surface tension

RRB NTPC 17.01.2017
(Shift-I) Stage I

Due to that property the falling drop of water is spherical— Surface tension

RRB J.E. 2014 (14.12.2014
Set-2, Red Paper)

The absorption of ink by blotting paper involves— capillary action

RRB NTPC Stage I*
29.04.2016 (Shift-I)
RRB NTPC 30.03.2016
(Shift-I) Stage I

Kerosene oil rises up in wick of a lantern because of— Capillarity action

RRB NTPC 11.01.2021
(Shift-T) Stage Ist
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An ideal fluid is— Frictionless and incompressible

RRB SSE 21.12.2014

Bernoulli's theorem deals with the principle of conservation of— Energy

RRB-JE 30.08.2019, Ist
Shift

The Principle involved in the absorption of water by soil is—  Capillary action

(SSC CPO (TIER-1) 2016)

On a clean glass plate a drop of water spreads to form a thin layer whereas a drop
of mercury remains almost spherical because—
Cohesion of mercury is greater than its adhesion with glass

(SSC CGL (TIER-1) 27-08-
2016, 4.15 pm)

The viscosity of an ideal fluid is— Zero | (SSC10+2 CHSL 17.01.17,
10 am)

The reason for the oil rising in the lamp is— Capillary action SSC JE Civil 29.10.2020
(Shift-I)

C. Flow of Liquids

The name of the instrument used for measuring the speed and rate of flow of a
fluid that is flowing in a pipe is— Venturimeter

SSC CHSL 16/04/2021
(Shift-TII)

Force of attraction between molecules of the same substance is called—
Cohesive force

SSC CGL—(Tier-I)
24/08/2021 (Shift I)

AV= constant, where A= area of cross-section and V= velocity of fluid. This

(SSC 10+2 CHSL 21.01.17,

equation is called— Equation of continuity 10 am)
In a streamline flow, at every point in the fluid remains same— velocity | (SSC 10+2 CHSL 10.01.17,
4.15 pm)

D. Buoyancy and Archimedes's Principle

On the basis of buoyancy theory, the ship floats in water, that scientist is first
credited with identifying this principle by— Niles Bohr

RRB ALP & Tec. (13-08-18
Shift-T)

RRB NTPC Stage I*
30.04.2016 (Shift-IIT)

Coincides with the centroid of the
volume of fluid displaced

Center of buoyancy always-

RRB J.E. (14.12.2014,
Yellow paper)

Object floats on water based on— Archimede's principle

RRB NTPC Stage I"*
27.04.2016 (Shift-IT)

When a body is completely or partially immersed in a fluid, this body

RRB J.E. 2014 (14.12.2014

experiences a force equal to the weight of the displaced fluid, this principle is Red Paper)
known as— Archimedes' principle RRB Group-D 15-10-2018
(Shift-I)

According to Archimedes principle, the upward force experienced by a body RRB JE CBT-II 28—-08—
immersed in a fluid is equal to— Weight of the fluid displaced by the body 2019 (morning)
The force exerted by water in upwards direction is— Buoyancy force | RRB ALP & Tec. (21-08-18
Shift-I)

The speed increases of ships is based on- Theory of Archimedes

RRB NTPC Stage I*
22.04.2016 (Shift-IT)

The building and movement of ships is based on— Opposite direction

RRB Group-D 15-11-2018
(Shift-T)

The upward pressure generated by an object being placed on a fluid is—
Boyant force

RRB NTPC 18.04.2016
(Shift-III) Stage I

Another name for the buoyancy force exerted by water to a submerged body is—
Upthrust

RRB JE 27.06.2019 (Shift-I)
RRB Group-D 23-10-2018
(Shift-T)

When an object sinks, then up thrust of the fluid on the object is—
Less than the weight of the object

RRB Group-D 09-10-2018
(Shift-1T)

Upthrust force and weight of object would be— In the opposite direction

RRB Group-D 05-10-2018
(Shift-I1T)

The force acting perpendicular to plane is— Upthrust

RRB Group-D 15-10-2018
(Shift-11T)

The buoyancy force exerted by the water will be—  Equal to the weight of the

water displaced by the object

RRB Group-D 05-10-2018
(Shift-T)
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The magnitude of buoyancy force depends on— The density of the liquid

RRB Group-D 03-10-2018
(Shift-T)

Bubbles of air rise up through liquids due to— Viscosity and buoyancy

(SSC CGL (TIER-1) 27-08-
2016, 10am)

When ice floats on water, its part remains outside the water— 0.1 (SSC 10+2 CHSL 08.02.17,
1.15 pm)

If ice floating on water in a vessel melts, the water level in vessel— (SSC 10+2 CHSL 16.01.17,
does not change 4.15 pm)

Upward force on a floating body is called— Buoyancy | (SSC 10+2 CHSL 08.02.17,
10 am)

If there was no gravity, it will not be there for a fluid— (SSC CGL (TIER-1) 31-08-
Upward Thrust 2016, 4.15 pm)

Lactometer (Used to determine the purity of milk samples) and hydrometers SSC CPO-12/12/2019
(used to determine the density of liquids) are based on the principle of— (Shift-I)

Archimedes

The swimmer to swim in the water is helped by— Buoyancy force

SSC CHSL-03/07/2019
(Shift-III)

The buoyancy force exerted on an object partially or completely submerged in a
liquid medium (gas or liquid) is equal to the weight of the liquid displaced by that
object. That principle is— Archimedes's Principle

SSC MTS-21/08/2019
(Shift-IT)

E. Pressure

Pressure is defined as— Force per unit area

RRB Group-D 16-10-2018
(Shift-I)
RRB Group-D 05-12-2018
(Shift-I)

Pressure is measured by- Force and area

RRB NTPC 30.03.2016
(Shift-T) Stage I*

If the area is small for a given force, the pressure will be— More RRB Group-D 10-10-2018
(Shift-I)
The dimension of pressure is— ML'T? | RRB SSE (21.12.2014, Set-

07, Yellow paper)

Pressure is defined as— Thrust per unit area

RRB Group-D 12-12-2018
(Shift-T)

The thrust per unit area is called— Pressure

RRB Group-D 11-10-2018
(Shift-III)

As the depth increases from the free surface of a fluid, the pressure exerted by the
liquid will be— Increases

RRB Group-D 12-12-2018
(Shift-III)
RRB Group-D 10-12-2018
(Shift-III)

The pressure inside the aircraft cabin at altitude is— More than outside

RRB NTPC 29.03.2016
(Shift-TIT) Stage I*

The pressure of air at a certain temperature is proportional to— Density RRB Group-D 02-11-2018
(Shift-I)
The SI unit for measuring pressure is— Pascal SSC CHSL 04/08/2021
(Shift-I)
The value of pressure is obtained, if thrust in a liquid is divided by— Area SSC CGL—(Tier-I)

13/08/2021 (Shift II)

At hill stations, the boiling point of water will be— less than that at sea level

(SSC CGL (TIER-1) 01-09-

2016, 4.15 pm)

Boiling point of water decreases at high altitudes because— (SSC 10+2 CHSL 30.01.17,
Because of low atmospheric pressure 4.15 pm)

A fountain pen leak in aeroplane flying at a height— (SSC 10+2 CHSL 17.01.17,
Because of lower atmospheric pressure outside the pen 1.15 pm)

According to pressure is equal to the force divided by the area, it acts—
Pascal's Law

SSC CGL(Tier-I)-
11/06/2019 (Shift-1T)
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F. Density

The density of water is— 1000 kg / cubic meter

RRB NTPC 18.04.2016
(Shift-IT) Stage I*

The reason for clouds floating in the sky is— Low density

RRB NTPC Stage I
28.04.2016 (Shift-IT)

Ice floats on water because its density— Is less than water

RRB ALP & Tec. (20-08-18
Shift-II)

The density of a substance is defined as- Mass per unit volume

RRB Group-D 24-10-2018
(Shift-1I)

RRB Group-D 11-12-2018
(Shift-1I)

RRB NTPC 16.04.2016
(Shift-IIT) Stage I*

Substance having density is greater than the density of water— Iron nail

RRB Group-D 06-12-2018
(Shift-11)

The relative density is equal to— Density of substance/density of water

RRB Group-D 22-10-2018
(Shift-IT)

RRB JE 26.06.2019 (Shift-
V)

A fresh egg when placed in salt water will— Float

(SSC CGL (TIER-1) 06-09-
2016, 1.15 pm)

Density of water is maximum at— 4 degree Celsius

(SSC 10+2 CHSL 15.01.17,
1.15 pm)

Density of the material of a substance is its mass divided by— Volume SSC JE Mechanical —
22/03/2021 (Shift-1I)

G. Kinetic Theory
The state of substance having kinetic energy is maximum-— Gas RRB Group-D 19-09-2018
(Shift-1I)
RRB Group-D 05-12-2018
(Shift-1I)
The situation in the molecular attraction is very strong— Solid RRB J.E. (14.12.2014,
Green paper)
According to gas kinetic theory, the absolute zero temperature is achieved only | RRB ALP & Tec. (29-08-18
when— The kinetic energy of the molecules is zero Shift-T)
If the amount of water vapour in the air is high, the rate of evaporation will- Low RRB Group-D 05-11-2018
(Shift-I)
Virtually the force exerted on a vessel wall by a gas molecules— RRB J.E. 2014 (14.12.2014
Change in their momentum by hitting the wall Red Paper)

The temperature during solid melting— Do not change

RRB Group-D 22-09-2018
(Shift-IT)

If the pressure in a closed vessel is reduced by drawing out some gas, the mean

(SSC CPO (TIER-1) 2016)

free path of the gas molecules will— Increase
The molecular mass of a gas is— Twice its vapour pressure | (SSC CGL (TIER-1) 09-09-
2016, 4.15 pm)
S. Heat
A. Temperature & Measurement of Temperature
—273.15°C temperature is equal to— 0K RRB NTPC 15.03.2021
(Shift-IT) Stage Ist
The freezing point of water on Kelvin scale is— 273.15K RRB NTPC 30.12.2020
(Shift-1I) Stage Ist
Temperature of water density is maximum— 4" Celsius RRB NTPC Stage I

28.04.2016 (Shift-I)

ALP Stage -1I 22.01.2019
(shift - IT)

RRB NTPC 03.03.2021
(Shift-1I) Stage Ist
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The normal temperature of a human body is— 98.6°F

RRB NTPC 23.02.2021
(Shift-I) Stage Ist

The physical state of water at 12° Celsius is— Liquid RRB ALP and Tech.
(29.08.2018) Shift-11

The freezing point of water is— 32'F RRB NTPC 19.04.2016
(Shift-T) Stage I*

The absolute zero temperature is— 273" C less than 0 RRB NTPC Stage I*

22.04.2016 (Shift-I)
RRB NTPC 18.01.2017
(Shift-T) Stage 11!

Cryogenic refer to— Low temperature

RRB NTPC 19.04.2016
(Shift-III) Stage I

The standard room temperature in Kelvin scale is— 300 K

RRB ALP & Tec. (21-08-18
Shift-IIT)

Centigrade is the mother's unit of temperature is named on—
Andres Celsius

RRB NTPC 16.04.2016
(Shift-T) Stage I’

The absolute zero pressure is achieved—At a temperature of -273 Celsius

RRB J.E. (14.12.2014,
Green paper)

‘When the molecular speed
of the system decreases to zero

Temperature reaches zero absolute value—

RRB J.E. (14.12.2014,
Green paper)

To convert temperature from Celsius to Kelvin scale, you must— Add 273 to
the given temperature

RRB Group-D 19-09-2018
(Shift-1I)

RRB Group-D 08-10-2018
(Shift-11T)

RRB ALP & Tec. (09-08-18
Shift-11)

The value of the temperature which is considered normal in human body is—

RRB NTPC Stage I"*

98.6 F 27.04.2016 (Shift-I)

The value of 273 K is— 0°C RRB Group-D 28-11-2018
(Shift-T)

RRB Group-D 01-11-

2018 (Shift-1T)

The temperature of water can exist in both liquid and solid conditions— RRB Group-D 29-10-2018
0° Celsius (Shift-11T)

Melting point of ice is— 273 K RRB Group-D 08-10-2018
(Shift-1T)

To measure temperature by the device— Thermometer SSC MTS- 11/05/2023
(Shift-1I)

At boiling point of liquids, its— Temperature remains constant | (SSC CGL (TIER-1) 27-08-
2016, 4.15 pm)

30° Celsius is equal to in the kelvin— 303 kelvin SSC CPO-SI 25/11/2020
(Shift-I)

The direction of heat flow between two body depends on— Their temperatures

SSC JE Civil - 22/01/2018
(Shift-IT)

The numerical value of temperature in Fahrenheit and Celsius scales are equal to—

SSC JE Civil - 25/01/2018

—40° (Shift-I)
The absolute zero is a temperature at which— (SSC CGL (TIER-1) 06-09-
Molecular motion in a gas would stop 2016, 10 am)
Absolute Zero temperature is defined as— (SSC CGL (TIER-1) 11-09-
The temperature at which all molecular motion 2016, 1.15 pm)
0° K is equivalent to— -273°C | (SSC CGL (TIER-1) 03-09-
2016, 10 am)

PHYSICS 38 YCT




When temperature difference between liquid and its surroundings is doubled, the
rate of loss of heat will— Double

(SSC CPO (TIER-1) 2016)

Cryogenics is a branch of Physics that deal with—  Produce and effect of very

(SSC 10+2 CHSL 25.01.17,

low temperatures on matter 4.15 pm)

The difference in temperature between two bodies is 30 degree centigrade. The SSC CPO-SI 23/11/2020

difference in degree Fahrenheit is— 54 (Shift-I)

The boiling point of water at sea level is— 100°C SSC CHSL 16/04/2021

(Shift-I)

The Steam Point on the Fahrenheit scale is— 212°F SSC MTS 13/10/2021

(Shift-I)

The melting point of ice at the sea-level at normal atmospheric pressure and at 45 SSC MTS 26/10/2021

degree latitude is— 273.16 K (Shift-I)
B. Thermal Energy/Thermal Conduction/Radiation

The color of the inside of a solar cooker is— Black RRB Group-D 24-10-2018

(Shift-11T)

Expansion makes the Eiffel Tower taller during summers— Thermal SSC CGL(Tier-I)-

04/03/2020 (Shift-I)

Woolen clothes keep the body warm in winter because— Wool is a bad RRB SSE (21.12.2014, Set-

conductor of heat 08, Green paper)

Transfer of heat is mainly due to conduction, convection and radiation in— RRB J.E. (14.12.2014,

Boiler furnaces Green paper)

The sun provides heat the earth through— Radiation SSC CPO-SI - 09/12/2019

(Shift-1T)

The supplied heat energy stored during change in temperature of substance is— (SSC CGL (TIER-1) 02-09-

Kinetic energy 2016, 4.15 pm)

Even after sunset, the air near the Earth’s surface to receive heat due to— (SSC CGL (TIER-1) 02-09-

Terrestrial Radiation 2016, 10 am)

One calorie of heat energy is equivalent to approximately joules of mechanical SSC CPO-SI 25/11/2020

energy— 4.2 (Shift-T)
C. Convection

Heat Balance is— The balance between the incoming heat absorbed RRB NTPC 25.01.2021

by the earth and the outgoing heat in the form of radiation

(Shift-I) Stage Ist

The method that molecule of a fluid transmit the heat from one place to another—
Convection method

RRB Group-D 01-10-2018
(Shift-11T)

The amount of radiation mainly depends upon the— Nature of the body,
Temperature of the body, Type of surface of the body

RRB J.E. 2014 (14.12.2014
Red Paper)

The main reason for heat transfer between fluid and gas is— Convection

RRB J.E. (14.12.2014,
Green paper)

The boiling point at standard atmospheric pressure at sea-level and 45° latitude of

SSC CGL—(Tier-I)

water on the Celsius scale is— 100°C 20/08/2021 (Shift I)
Within an environment, the horizontal heat transfer called is— Advection SSC JE Civil - 27/01/2018
(Shift-T)

Food is cooked faster in the pressure cooker due to the— SSC JE Civil 29.10.2020
Increase in the boiling point of water (Shift-I)

D. Conductor/Non-conductor/ Insulator

Bad conductor of heat is— Glass, cloth, rubber, plastic Wood, etc.

RRB NTPC 18.04.2016
(Shift-I) Stage I

Borosilicate glass ware is used in microwave ovens because— It is highly RRB NTPC 11.04.2016
heat resistant (Shift-IT) Stage I*
A conductor is said to be perfect if it has electrical conductivity— Infinite | R.R.B. JE- Stage - I1 31-08-

2019 (Shift -T)

A very good conductor of electricity is—
Copper, Alluminium, Silver, Graphite etc

RRB NTPC 17.01.2017
(Shift-TIT) Stage I*'
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The conductor of electric charge is— Copper

RRB NTPC 30.03.2016
(Shift-II) Stage I**

Thermal conductivity of a solid metal with increasing temperature—Will decrease

RRB J.E. 2014 (14.12.2014
Set-2, Red Paper)

Example of thermal insulation is— Plastic, ebonite, paper, cotton,

bakelite, dry air, rubber etc.

RRB Group-D 16-10-2018
(Shift-11II)

A bad conductor of heat is- Pb & Hg RRB Group-D 12-10-2018
(Shift-11II)

The resistors that is known as a heat sensitive resistor— Thermistor RRB Group-D 26-10-2018
(Shift-1I)

A wooden spoon is dipped in a cup of ice cream. Its other end will— SSC JE Civil - 23/01/2018
Not become cold (Shift-1I)

Ice covered in sawdust not melt quickly because— (SSC CGL (TIER-1) 28-08-
Sawdust is a bad conductor of heat 2016, 4.15 pm)

Example of some insulator are— Wood, Rubber glass, Plastic, etc. | (SSC CGL (TIER-1) 27-08-
2016, 10am)

SSC JE Civil -23/01/2018
(Shift-1T)

E. Phase Transition and Latent Heat

The temperature when a solid object melts at atmospheric pressure to become a
liquid is— Melting point

RRB Group-D 05-10-2018
(Shift-TIT)

The temperature at which a liquid changes from its liquid state to a solid state is
called— Freezing point

RRB NTPC 07.04.2016
(Shift-T) Stage I*

The physical state of water at 257° Celsius is— Gaseous RRB Group-D 03-12-2018
(Shift-1T)
The boiling point of water is— 212° Fahrenheit RRB NTPC 19.04.2016

(Shift-IT) Stage I**

Amount of heat per unit mass required to change a substance from a solid to a
liquid at the same temperature and pressure— Latent heat of liquefaction

ALP Stage -1I 22.01.2019
(shift - T)

The water pipes burst at freezing temperature because— Expansion RRB NTPC Stage I*
29.04.2016 (Shift-I)

The boiling point of water in the Kelvin scale will be— 373 K | RRB SSE (21.12.2014, Set-
08, Green paper)

The boiling point of water is— 100° Celsius RRB Group-D 28-09-2018

(Shift-T)

The temperature at which the fluid starts boiling at atmospheric pressure is—
Boiling point

RRB Group-D 02-11-2018
(Shift-IT)

F. Relative Humidity/Vaporization

Water evaporates- At all temperatures

RRB Group-D 25-09-2018
(Shift-T)

The water kept in an earthen pot remains cool even in summer— Evaporation

RRB Group-D 25-10-2018
(Shift-1T)
RRB ALP & Tec. (13-08-18
Shift-I)
RRB Group-D 05-10-2018
(Shift-111)

The principle of evaporation of liquid to absorb heat, is used in—  Refrigerator

RRB NTPC 31.03.2016
(Shift-1) Stage I’

The principles of refrigerator works on— Evaporation

RRB NTPC Stage I"*
28.04.2016 (Shift-IT)

Running a fan in the summer season is given relief because— Our sweat
evaporates rapidly from the fan air

RRB J.E. (14.12.2014,
Yellow paper)
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G. Thermodynamics

Heat is not directly related to — Measurement of thermal energy

RRB NTPC 19.04.2016
(Shift-III) Stage I

constant or the heat flow is not based on time

Heat transfer to any system is measured in the— Joule ALP Stage -11 22.01.2019
(shift - T)

Steady state heat flow means— There is no temperature variation between | RRB ALP & Tec. (29-08-18
the two bodies, the rate of heat flow is Shift-T)

The slowest speed for the same volume of a liquid that process will have—

RRB ALP & Tec. (14-08-18

Evaporation Shift-1T)

In Thermodynamic, Zero Law states that— RRB J.E. 2014 (14.12.2014
When two systems are in heat balance with the third system, Red Paper)

they will also be in equilibrium with each other RRB J.E. (14.12.2014,

Green paper)

Tendency of entropy of the universe is— Maximum RRB J.E. 2014 (14.12.2014
Red Paper)

In a thermodynamic system the heat balance is achieve when two bodies reach RRB J.E. (14.12.2014,
at— the same temperature Green paper)
Thermodynamic process of constant volume is called— Isochoric RRB J.E. (14.12.2014,
Green paper)

The product of pressure and volume and the sum of internal energy is— Enthalpy RRB J.E. (14.12.2014,
Green paper)

The branch of physics related to heat is— Thermodynamics

RRB NTPC 16.04.2016
(Shift-IT) Stage I**

Energy can neither be generated nor destroyed but it can be transformed into
another form, which is called— Law of energy conservation

RRB Group-D 11-10-2018
(Shift-1T)

Thermodynamics law that defines entropy— Second law

RRB SSE (21.12.2014, Set-
07, Yellow paper)

The term "Zeroth law of thermodynamics" in 1931, which states that when two
systems are in thermal equilibrium with a third system, then they are also thermal
equilibrium with themselves was coined by— Ralph H. Fowler

SSC CGL (Tier-1) -
27/07/2023 (Shift-IIT)

by— First law of thermodynamics

Heat is a type of energy transfer from a warmer substance to a colder one— SSC CHSL 06/08/2021
Thermodynamics (Shift-I)

Two bodies are in Thermal equilibrium, if they are the same— Temperature | SSC MTS 9-10-2017 (Shift-
111)

A thermodynamic process during the volume of the closed system in (SSC J.E. 01.03.17, 2:45
consideration remains constant is called— Isochoric process pm)
When ice cubes are made, the entropy of water— Decreases | (SSC CGL (TIER-1) 11-09-
2016, 4.15 pm)

Internal energy is a function of state and the increase in internal energy is equal to | (SSC 10+2 CHSL 01.02.17,
the sum of the heat supplied to system and work done by the system, it is stated 10 am)

The first two laws of thermodynamics and deduced that the absolute zero of
temperature is —273.15°C. He was honoured for this with the naming of the
Kelvin temperature scale was codified by— William Thomson

SSC CGL(Tier-I)-
07/06/2019 (Shift-III)

6. Wave

Radio wave, microwaves, infared, visible light, X-rays etc

Light that carries a signal from a television remote to the device it controls— RRB NTPC 31.07.2021
Infrared (Shift-I) Stage Ist
The electromagnetic waves are — RRB NTPC 31.07.2021

(Shift-I) Stage Ist

Visible radiation was discovered by— Isaac Newton

RRB NTPC 02.03.2021
(Shift-T) Stage Ist

Transverse waves are— In these waves, the particles of the medium
vibrate perpendicular to the direction of

propagation of the waves

RRB NTPC 11.02.2021
(Shift-I) Stage Ist
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In longitudinal waves, particles vibrate in the direction of transmission the
propagation of the wave— Parallel

RRB Group-D 05-11-2018
(Shift-I1T)

The type of waves that do vibrations move parallel to the direction of the wave's

RRB JE 29.05.2019 (Shift-

movement— Longitudinal I
The shortest wavelength of colour is— Purple RRB NTPC Stage I*
29.04.2016 (Shift-I)

Dilution occurs where is air pressure is— Low RRB Group-D 16-11-2018
(Shift-11)

The compression is made at the place where the air pressure is — High RRB Group-D 24-09-2018

(Shift-III)

Particles oscillate up and down perpendicular to the direction of propagation of
the wave, such waves are called— Transverse waves

RRB Group-D 12-12-2018
(Shift-I1T)

If any explosion takes place at the bottom of a lake the type of shock wave in
water will take place— Longitudinal

RRB Group-D 17-09-2018
(Shift-11T)

The distance between two consecutive compressions in a longitudinal wave is—
Wavelength

RRB ALP & Tec. (31-08-18
Shift-III)

The waves that include compression and spillage response — Longitudinal wave

RRB Group-D 15-11-2018
(Shift-1T)

The wave length is usually indicated in the Greek Letter- (A)Lambda

RRB Group-D 11-10-2018
(Shift-III)

The loudness of the sound by a radio increases by -
Amplitude increase

RRB Group-D 22-09-2018
(Shift-11T)

Wave, speed, amplitude, wavelength and frequency all are called—
Characteristics of wave

RRB Group-D 15-11-2018
(Shift-T)

The amplitude of the wave is- Maximum distance travelled by the particles of
the medium on either side from the central state

RRB Group-D 06-12-2018
(Shift-11T)

The frequency is expressed in the event repeated per second— Hertz

RRB Group-D 05-11-2018
(Shift-I)

The area of high density of particles in the medium during transmission of sound

RRB Group-D 16-

is called— Compression 11-2018 (Shift-I)
If the distance between a crest and its consecutive trough for a sound wave is L, RRB Group-D 16-11-2018
then its wavelength is given by— 2L (Shift-T)
The depth of the trough of a wave is called its- Amplitude RRB Group-D 15-11-2018

(Shift-11I)
RRB Group-D 24-09-2018
(Shift-I)

The time taken for one oscillation at a point in the medium is called-Time period

RRB Group-D 16-11-2018
(Shift-1T)

The type of waves that is used to penetrate hard object at hospital and airport—
X-rays

RRB NTPC 12.04.2016
(Shift-III) Stage I

The infra-red rays are— Electromagnetic waves

RRB NTPC 05.04.2016
(Shift-IIT) Stage Ist

That electromagnetic wave that have the shortest wavelength— Gamma ray

RRB NTPC 03.04.2016
(Shift-III) Stage I

Harmful radiation emitted by the Sun— UV radiation

RRB Group-D 25-09-2018

(Shift-T)

The order of radiation in descending order of frequencies is— SSC CGL (Mains)
X-Rays > infrared > microwaves > radio waves 03/03/2023

The types of radiation designates a portion of the electromagnetic spectrum from SSC CHSL 30/05/2022
about Imm to 100 km is— Radio waves (Shift-I)

TV remote controls work on the principle of— Infrared waves

SSC CGL (Tier-I) -
06/06/2019 (Shift-11)
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Ionizing has/have sufficient energy to affect the atoms in living cells and thereby
damage their genetic material— Radiation

SSC JE Electrical
10.12.2020 (Shift-II)

The Wave theory of light was proposed by scientist— Christiaan Higgins

(SSC J.E. 04.03.17, 2:45

pm)

The electromagnetic waves can be detected using thermopiles— (SSC J.E. 04.03.17, 10:00

Infrared waves am)

The order of electromagnetic radiation arranged in order of increasing frequency (SSC J.E. 01.03.17, 2:45

is— Long Radio Waves < Microwaves < Visible light < X-Rays pm)

Earth's surface re—emits heat in the form of— Infrared radiation (SSC J.E. 04.03.17, 10:00

am)

A magnetron valve is used to produce— Microwaves (SSC J.E. 01.03.17, 10:00

am)

The electromagnetic waves can be detected using Point contact diodes— (SSC J.E. 04.03.17, 2:45

Microwaves pm)

A wavelength range of 700 nm to 400 nm— Visible light (SSC J.E. 02.03.17, 2:45

pm)

Intensity of any wave is proportional to— Square of amplitude | (SSC CGL (TIER-1) 07-09-

2016, 10 am)

The rate of transfer of energy per unit area perpendicular to the direction of travel | (SSC 10+2 CHSL 24.01.17,

of the wave is— Intensity of wave 10 am)

The phenomenon that established the transverse nature of light is— Polarisation | (SSC CGL (TIER-1) 28-08-

2016, 4.15 pm)

The waves cannot be polarised— Ultrasonic | (SSC CGL (TIER-1) 11-09-

2016, 1.15 pm)

An example of longitudinal waves (in gas as a medium) is— Sound waves SSC JE Civil - 23/01/2018

(Shift-I)

The superposing of two or more coherent waves to produce regions of maxima | (SSC 10+2 CHSL 24.01.17,

and minima in space, according to the principle of superposition, it refers to— 1.15 pm)
Interference

The relationship between frequency (f) and time period (T) of a wave is— (SSC 10+2 CHSL 03.02.17,

fxT=1 10 am)

The frequency of a wave is the reciprocal of its— time period SSC JE Electrical —

24/03/2021 (Shift-1I)

The following electromagnetic waves can be detected using Geiger tubes—

(SSC CGL (TIER-1) 09-09-

Gamma rays 2016, 1.15 pm)

The wave that used in radar systems are— Micro waves SSC CHSL-10/07/2019
(Shift-I)

The skin damage causes by— UV Rays | (SSC 10+2 CHSL 23.01.17,
1.15 pm)

The horizontal distance between two successive crests is— Wave length SSC CGL 21/04/2022

(Shift-T)

7. Sound

A. Nature of Sound Waves

The sound is not heard on the Moon because—  There is no atmosphere on the
Moon and sound cannot travel without medium

RRB JE 27.05.2019 (Shift-
V)

Sound waves cannot travel in the — Vacuum

RRB NTPC Stage I*
28.04.2016 (Shift-IT)

RRB ALP & Tec. (13-08-18
Shift-TIT)

RRB Group-D 09-10-2018
(Shift-T)

The time taken for a complete oscillation of a sound wave in the density of the
medium is— Time period

RRB JE 24.05.2019 (Shift-
V)

Sound can transmit from— Solids, Gas and Fluid only

RRB Group-D 12-10-2018
(Shift-T)
RRB JE 02.06.2019 (Shift-1V)
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The technique used to absorb noise by using soft and porous surface is called—
Sound protection

RRB Group-D 10-12-2018
(Shift-TIT)

Sound is a form of energy that arises due to— Vibration

RRB Group-D 08-10-2018
(Shift-I1II)
RRB Group-D 16-10-2018
(Shift-11II)

Compression and rarefaction are due to variability of— Alr pressure

RRB Group-D 28-09-2018
(Shift-T)

Sound intensity is measured— Decibel

RRB SSE (21.12.2014, Set-
08, Green paper)

The standard unit for measuring the frequency of a sound wave is— Hertz

RRB Group-D 20-09-2018
(Shift-1I)

Sound is one of the— Mechanical wave

RRB ALP & Tec. (17-08-18
Shift-III)

When the sound passes through the air, the particles of air- Vibrate in the
direction of propagation of the waves

RRB Group-D 07-12-2018
(Shift-11II)

The sound waves in the air are— Longitudinal

B Group-D 02-11-2018
(Shift-11T)

Sound waves travel on— Different speeds in different mediums

RRB Group-D 02-11-2018
(Shift-1T)

The Doppler effect discovered by Austrian scientist christian doppler, which

SSC CGL (Tier-II) -

describes the change in frequency of any sound or light waves produced by a 03/03/2023
moving source with respect to an observer in the year— 1842

The loudness of sound is proportional to the of the amplitude of the SSC MTS/Havaldar—

vibration producing the sound— Square 11/07/2022

(Shift-11T)

SSC JE Electrical

10/10/2023 (Shift-II)

Sound cannot travel in— Vacuum medium

(SSC CGL (TIER-1) 11-09-

2016, 1.15 pm)
Stethoscope works on principle— Reflection of sound SSC JE Civil - 25/01/2018
(Shift-11)
Sound waves travel fastest at a particular temperature in— Solid medium SSC JE Civil 29.10.2020
(Shift-I)
Sound travels fastest in— Steel | SSC MTS 7-10-2017 (Shift-
D

B. Frequency Range of Sound Waves
The lowest frequency of sound that can be heard by human beings is— 20 Hz RRB NTPC 11.03.2021

(Shift-I) Stage Ist

For humans, the audible waves are those that— Have the frequency range

RRB NTPC 23.02.2021

between 20 Hz to 20000 Hz (Shift-T) Stage Ist

The intensity level of very low audio sound is— 0dB RRB Group-D 12-12-2018
(Shift-1)

The frequency of ultrasonic waves is— More than 20 kHertz RRB NTPC 05.04.2016
(Shift-1T) Stage Ist

The approximate range of sound for humans is— 20 Hertz to 20000 Hertz RRB Group-D 30-10-2018

(Shift-11)

RRB Group-D 07-12-2018
(Shift-T)

RRB Group-D 31-10-2018
(Shift-T)

RRB JE 28.06.2019 (Shift-
IV)

RRB ALP & Tec. (30-08-18
Shift-I)

RRB Group-D 08-10-2018
(Shift-1T)
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Man cannot tolerate very high sound, the highest sound level that human cannot

RRB Group-D 03-12-2018

hear— 80dB (Shift-11T)
Sound waves with frequency below the audible range are called- Infrasonic RRB Group-D 18-09-2018
(Shift-T)

The frequency of Infrasonic waves is— Less than 20Hz RRB Group-D 13-12-2018
(Shift-1T)

To detect the obstacles in their path, bats produce— Ultrasonic waves

RRB Group-D 09-10-2018
(Shift-11)
RRB Group-D 05-10-2018

(Shift-I)
The frequency of an ultrasonic sound wave is greater than— 20000 Hz RRB JE 28.05.2019 (Shift-
D
RRB Group-D 16-10-2018
(Shift-11T)
Ultrasonic sound are those sounds, its frequencies are— More than 20 kHz SSC CHSL-10/07/2019
(Shift-1T)
Women have shrill voice because of— High frequency (SSC 10+2 CHSL 08.02.17,
10 am)
The audible range of sound for an average adult person is—20 Hertz-20000 Hertz SSC CHSL-10/07/2019
(Shift-I)
Human being's hearing range is— 20 t0 20,000 Hz | (SSC 10+2 CHSL 03.02.17,
10 am)

C. Speed of Sound
The speed of sound in air is— 343 m/sec RRB NTPC 27.02.2021

(Shift-I) Stage Ist

RRB J.E. 2014 (14.12.2014
Red Paper)

RRB Group-D 31-10-2018
(Shift-TI)

RRB ALP & Tec. (14-08-18
Shift-I)

SSC CGL (Tier-I)
07.03.2020 (Shift-III)

The effect of pressure on the speed of sound— The speed of sound is not

affected by pressure

RRB NTPC 07.04.2016
(Shift-I) Stage I*

If the frequency of a sound wave is increased at a given velocity, the effect on its

RRB ALP & Tec. (31-08-18

wavelength is— Its wavelength will decrease Shift-II)
The velocity of sound is— More in summer than winter | RRB ALP & Tec. (20-08-18
Shift-11T)
Speed of sound in seawater it occurs— 1531 m/s RRB Group-D 25-10-2018
(Shift-1T)
When the speed of an object exceeds to the speed of sound, it is said to travel at- RRB Group-D 08-10-2018
Super sonic speed (Shift-I)
An object travelling at a speed greater than the speed of sound in air is called— RRB Group-D 04-10-2018
Supersonic (Shift-I)
Speeds greater than the speed of sound in air are known as— Supersonic RRB NTPC 17.01.2017
(Shift-IT) Stage I**
In any medium, the speed of sound increases, as we increase— Temperature RRB Group-D 05-10-2018
(Shift-11T)
If the temperature increases, the speed of sound— Increases RRB Group-D 27-09-2018
(Shift-11T)
At a given temperature has a highest speed of sound— Aluminium RRB Group-D 26-09-2018
(Shift-1T)
The speed of sound is the fastest in— Steel RRB Group-D 25-09-2018
(Shift-1T)
The mediums has the sound travel fastest at a particular temperature— Iron RRB JE 29-05-2019 (Shift-
111)
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The substances that will have the lowest speed of sound— Air RRB Group-D 16-11-2018
(Shift-11T)

Speed of sound is maximum in— Solid RRB Group-D 17-09-2018
(Shift-T)

RRB Group-D 10-10-2018

(Shift-1T)

RRB JE 26.05.2019 (Shift-

111)

RRB Group-D 26-09-2018

(Shift-I)

The speed of sound depends on property of the medium are— Temperature, RRB JE 23-05-2019 (Shift-
Elasticity, Moisture etc 11I)

The distance travelled by a wave in one second, it represented by— Wave velocity | RRB JE 26-06-2019 (Shift-
D

When the speed of an object exceeds the speed of sound, it is said to be travelling SSC JE Civil — 23/03/2021
at the speed of— Supersonic (Shift-1I)
The reason for a sound to be 'Grave' or "Shrill' is— Pitch SSC JE Civil 30.10.2020

(Shift-IT)

D. Characteristics of Sound

The amplitude of the sound wave depends on— Force required to

RRB JE 24.05.2019 (Shift-

vibrate an object V)

The amount of sound energy passing in the unit area per second is called— RRB JE 02.06.2019 (Shift-
Intensity 11I)

A single frequency sound is called— Tone | RRB ALP & Tec. (17-08-18
Shift-I)

RRB Group-D 04-10-2018

(Shift-I)

The way the brain interprets the frequency of an emitted sound is called the— RRB NTPC 27.03.2021
Pitch (Shift-1T) Stage Ist

The repeated reflection that results in the persistence of sound is called— RRB NTPC 05.03.2021
Reverberation (Shift-I) Stage Ist

RRB ALP & Tec. (20-08-18
Shift-1T)

RRB JE 27.05.2019 (Shift-
V)

The persistence of sound in an auditorium is the result of repeated reflections of
sound and is called— Reverberation

RRB NTPC 16.01.2021
(Shift-I) Stage Ist

Pitch of sound depends on— frequency

RRB ALP & Tec. (10-08-18
Shift-IT)
RRB ALP & Tec. (30-08-18
Shift-IT)

The loudness or softness of a sound is— Amplitude

RRB JE 24.05.2019 (Shift-
)

Sound moves through the air and reaches our ears and gives us— Sound sensing

RRB Group-D 16-10-2018
(Shift-1T)

The area of high density of particles in the medium at the time of sound

RRB Group-D 20-09-2018

transmission is called— Compression (Shift-I)
The characteristics of sound is measured in hertz (Hz) is— Frequency of the SSC CHSL 21/10/2020
sound (Shift-1I)
The study of the production and propagation of sound waves called— Acoustics SSC CGL 18/04/2022
(Shift-11T)

E. Echo
The approximate minimum distance between source and reflector for echo is— RRB Group-D 23-10-2018
17 m (Shift-11T)
The repetition of sound, produced by the reflection of sound waves is— Echo RRB JE 24.05.2019 (Shift-
1V)
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The roofs and walls of the auditorium covered to reduce echo are— Fiberboard RRB Group-D 30-10-2018
(Shift-11T)
Echoes may be heard more than once due to successive or multiple- Reflection RRB Group-D 22-09-2018

(Shift-III)
RRB ALP & Tec. (21-08-18
Shift-TIT)

To hear distinct echo the time interval between the original sound and the
reflected sound must be— 0. 1 second

RRB Group-D 26-11-2018
(Shift-III)

RRB ALP & Tec. (13-08-18
Shift-III)

RRB ALP & Tec. (21-08-18
Shift-T)

There is an acoustic resonance, that echoes is the fixed resonance when it is in
vibration— Tuning fork

RRB Group-D 15-11-2018
(Shift-I1T)

To hear a distinct echo, the time interval between the original sound and reflected
sound must be atleast— 0.1 seconds

SSC JE Civil - 27/01/2018
(Shift-IT)

F. Sonar/Radar

Sonar is a device that uses ultrasonic waves to measure the distance, direction and
speed of object— Underwater

RB NTPC 08.03.2021
(Shift-I) Stage Ist

The device that uses ultrasonic waves to measure the distance, direction and
speed of underwater objects is called— SONAR

RRB NTPC 01.04.2021
(Shift-I) Stage Ist

The acronym SONAR stands for— Sound Navigation and Ranging

RRB Group-D 26-11-2018
(Shift-I1T)

RRB NTPC 09.04.2016
(Shift-TIT) Stage I*

RRB NTPC 16.01.2021
(Shift-I) Stage Ist

Echocardiogram is more closely related to— Doppler effect

RRB NTPC 19.04.2016
(Shift-IT) Stage I**

The distance, direction and speed of the objects present under the water can be

RRB JE 31.05.2019 (Shift-

measured with help of— SONAR V)
The word radar is derived from— Radio Detection And Ranging RRB J.E. (14.12.2014,
Yellow paper)

RRB NTPC 29.03.2016

(Shift-IT) Stage "

the main instruments in a SONAR, that are used to find the distance, direction

RRB JE 29.05.2019 (Shift-

and speed of an underwater body are— Transmitter and detector 11T)
RRB JE 25.05.2019 (Shift-
The technique that are used to determine the depth of the ocean, explore D

underwater hills, valleys, submarines, icebergs etc.— SONAR

8. Light

A. Nature of Light

Rays coming from the sun are refracted by the atmosphere. Due to this, the
apparent sunrise is about the actual sunrise— 2 minute before

RRB Group-D 25-08-2022
(Shift-I1T)

The materials through which objects can be seen but not clearly are called -
Translucent materials

RRB NTPC 08.03.2021
(Shift-I) Stage Ist

The region where all of the light from the source is blocked is called~=  Umbra RRB NTPC 13.01.2021
(Shift-I) Stage Ist
The substance through light can pass is called— Transparent body RRB NTPC 16.04.2016
(Shift-II) Stage I**
The primary colours used in colour television are— Red, green, blue | R.R.B. JE. Stage - II 01-09-
2019 (Shift - I1I)
The velocity of light in vacuum is— 3x10°ms™” | RRB ALP & Tec. (10-08-18
Shift-IT)
RB JE 24.05.2019 (Shift-I)
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The speed of light is maximum in the mediums of— Vacuum

RRB ALP & Tec. (31-08-18
Shift-IIT)

RRB Group-D 01-10-2018
(Shift-I)

The Quantum Theory of light was given by— Planck

RRB ALP & Tec. (20-08-18
Shift-1T)

The deviation angle is the lowest— red

RRB Group-D 01-11-2018
(Shift-IT)

Light is a transverse wave, the only event proving this— Polarization

RRB NTPC 11.04.2016
(Shift-IIT) Stage I

Objects that produce their own light, are called- Luminous objects

RRB Group-D 26-09-2018
(Shift-T)

SSC MTS 09.10.2017
(Shift-IT)

The color of grass as green because— It reflects green colored light

back to our eyes

RRB NTPC 04.04.2016
(Shift-III) Stage I

The theory belongs behind stars twinkling is that—  The refractive index of the
different layers of earth's atmosphere changes continuously,
consequently the position of the star's image changes with time

RRB NTPC 11.04.2016
(Shift-T) Stage I*

A piece of cloth, that appears green in sunlight, appear black when it is viewed
under red light because— The cloth completely absorbs red
colour wavelength

RRB NTPC 31.03.2016
(Shift-IT) Stage I**

The ability of a medium to reflect light is also expressed by its—  Light density RRB Group-D 29-10-2018
(Shift-11T)
The colour of VIBGYOR's light has the minimum wave length—  Purple/Voilet SSC CHSL (Tier-1) —

14/08/2023 (Shift-IV)

The electromagnetic spectrum describes the entire range of light it is usually SSC CHSL 30/05/2022
divided into regions of wave length and in order of increasing energy and (Shift-1I)
frequency— Seven
The colour of light is formed when red, blue and green colours of light meet in SSC JE Civil 11.12.2020
equal proportion— White (Shift-1I)
Light waves are— Electromagnetic waves SSC JE Civil - 24/01/2018
(Shift-I)
Light travels fastest in— Vacuum | (SSC 10+2 CHSL 16.01.17,
1.15 pm)
The colour of the light emitted by the Sun is— White SSC CGL(Tier-I)-

05/03/2020 (Shift-I)

Apart from the red and green wavelengths of sunlight, other wavelength of SSC MTS 08/10/2021
sunlight is absorbed by water molecules in the ocean— Orange (Shift-TI)
A wooden bat can be classified as an— Opaque object SSC MTS 06/10/2021

(Shift-I)

B. Scattering of Light

The colour of scattered light depends on the size of the scattering particles. Very
fine particles scatter mainly the— Blue light

RRB Group-D- 29/08/2022
(Shift-III)

The photographs taken from a satellite show the sky as dark. This is because—
No scattering occurs

RRB Group-D- 30/09/2022
(Shift-III)
RRB Group-D- 13/09/2022
(Shift-III)

The sky appears blue due to— Scattering of light of lower wave length

RRB Group-D 19-09-2022
(Shift-III)

Light is passed through suspended particles in a medium, some portion of light is

RRB Group-D 19-09-2022

absorbed and emitted in all directions— (Shift-T)
Scattering of light

The phenomenon of scattering of light by colloidal particles gives rise to— RRB Group-D 07-10-2022

Tyndall effect (Shift-T)
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An astronaut from the moon’s surface will observe the sky as— Black RRB Group-D 17-09-2022
(Shift-T)

When a beam of pure white light passes through a prism, it happened that— RRB Group-D 29-09-2022
The beam will be scattered (Shift-I)

The outer space looks black because of— No scattering of light takes place

RRB Group-D 12-09-2022
(Shift-I1II)

In the absence of atmosphere, the colour of the sky would be— Black | RRB Group-D- 01/09/2022

(Shift-11)
When a car is moving through a dusty road during night, a path of beam from the | RRB Group-D- 20/09/2022
headlight is clearly visible due to- Scattering effect (Shift-I)

The solutions can scatter light— Colloidal solution

RRB Group-D- 16/09/2022
(Shift-TIT)

The reddish appearance of the sun at the time of sunrise is due to—  Scattering | RRB Group-D- 13/09/2022
of light (Shift-T)

RRB Group-D- 17/08/2022

(Shift-I)

The bluish colour of water in deep sea is due to— Scattering of light | RRB Group-D- 17/08/2022

(Shift-III)

When sunlight passes through a dense forest, tiny water droplets in the mist light

RRB Group-D- 18/09/2022

and Tyndall effect is observed— Scatter (Shift-TI)
The colour of the sky a viewed by an astronaut at the International Space Station | RRB Group-D- 08/09/2022
would be— Black (Shift-I)
An example of scattering of light— Blue colour of the sky, Red sky, RRB NTPC 07.04.2021

White clouds etc.

(Shift-T) Stage Ist
RRB NTPC Stage I"*
19.01.2017 (Shift-IT)

The blue colour of the sky is due to the— Scattering of light

RRB NTPC 03.02.2021
(Shift-1I) Stage Ist

SSC MTS 18/10/2021
(Shift-I)

SSC JE Civil 29.10.2020
(Shift-I)

The color of the clouds appears white due to— Scattering of light

RRB Group-D 18-09-2018
(Shift-1T)

Scattering of sunlight occurs due to the presence of— Atmosphere

RRB JE CBT-II 28-08-
2019 (morning)

The process of glare resulting from a collision caused by a collision with particles
floating in a fluid of light is called— Tyndall effect

RRB SSE (21.12.2014, Set-
08, Green paper)

The effect of splitting of a spectral line into several components in the presence
of a static magnetic field is called— Zeeman effect

SSC CGL—(Tier-I)
16/08/2021 (Shift I1T)

Scattering of a beam of light by a medium containing small suspended particles is SSC JE Civil 30.10.2020
known as— Tyndall effect (Shift-T)
Sun appears red in colour at sunrise and sunset due to— (SSC CGL (TIER-1) 01-09-

that all other colour scatter 2016, 4.15 pm)

away except red

The brilliant red colour of rising and sun is due to the— Scattering of light SSC JE Civil - 25/09/2019
(Shift-T)
The colour of the sky appears blue, in the atmosphere, because blue light is SSC JE Mechanical

........... more than the other colours— Scattered

11.12.2020 (Shift-I)

The name of the phenomena (driven by the scattering of light) in which mountain

SSC CGL (Tier-1)-2019 —

tops acquire a rosy or orange colour around sunrise and sunset is—  Alpenglow 04/03/2020 (Shift-IIT)
The splitting of white light into its component colours is called— Dispersion SSC JE Mechanical
27.10.2020 (Shift-1II)
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C. Reflection of Light

Raman wants to use rear view mirror in his vehicle. The type of mirror should he
choose for this— Convex mirror

SSC CHSL (Tier-1) —
10/03/2023 (Shift-II)

The size of the image formed by a plane mirror is always to/than the object—

SSC MTS 9-10-2017 (Shift-

Equal )]

The image formed by a plane mirror is always— Erect SSC MTS 10-10-2017
(Shift-I)

In an image formed by a mirror, the left of the object appears on the right and the SSC JE Mechanical

right appears on the left. This is called as— Lateral inversion

27.10.2020 (Shift-I)

The total number of images formed by two mirrors inclined at 120° to each other
is— 2

SSC CGL (Tier-1)-2019 —
05/03/2020 (Shift-1T)

The kind of mirror would be best suited for use in a solar cooker— Concave SSC JE Civil - 24/01/2018
(Shift-1T)

The formula for magnification while using a concave mirror is— (SSC J.E. 01.03.17, 2:45
(Image distance)/(Object distance) pm)

In the headlights of car is used— Concave mirror | (SSC 10+2 CHSL 25.01.17,
1.15 pm)

In a concave mirror if object is placed at centre of curvature, then image will be— SSC JE Civil - 23/01/2018
At the centre of curvature (Shift-I)

The image formed by a plane mirror is always— Virtual and erect SSC MTS-21/08/2019
(Shift-1T)

C-1. Rules of Reflection

The light from a point source is rendered paralled by a concave mirror. The
position of the light source is— At Focus

RRB Group-D- 13/09/2022
(Shift-T)

A beam of light parallel to the of a concave mirror, after reflection, will pass
through the principal focus— Principal axis

RRB Group-D- 13/09/2022
(Shift-III)

An object is placed in front of a concave mirror at a distance equal to its focal

RRB Group-D- 02/09/2022

length. The image is formed at— Infinity (Shift-I)

If a ray of light is incident passing through the centre of curvature of a concave | RRB Group-D- 17/08/2022

mirror, then the angle between the incident ray and the reflected ray will be equa}]l (Shift-T)
to— 0

The focal length of a convex mirror is— Positive | RRB Group-D- 09/09/2022

(Shift-1I)

RRB Group-D-16/10/2018

(Shift-1I)

RRB Group-D- 04/12/2018

(Shift-1I)

A point on the principal axis which is at double the distance between P and F for
a Spherical mirror is— Centre of curvature

RRB Group-D- 09/09/2022
(Shift-III)

To obtain a virtual and erect image by reflection from a concave mirror of focal
length 20 cm, the object should be placed— Between 0-20 cm

RRB Group-D- 09/09/2022
(Shift-III)

The focal length of a convex mirror is 15 cm, New Cartesian Sign Convention, its
centre of curvature is located at— 30 cm

RRB Group-D 30-08-2022
(Shift-III)

An object is placed in front of a concave mirror at a distance twice its focal length
(2f). The image is formed at a distance of— 2f

RRB Group-D 30-08-2022
(Shift-11T)

The focal length of a concave mirror is— Always negative

RRB Group-D 12-09-2022
(Shift-I)

An object must be placed to obtain a real and inverted image of the same size as
that of the object after reflection— At C of a concave mirror

RRB Group-D 14-09-2022
(Shift- I1I)

If the size of a spherical mirror increases in such a way that its radius of curvature

RRB Group-D 14-09-2022

gets doubled, then its focal length will— Increase to double (Shift-I)
A mirror that can be used to focus sunlight to a point is— A concave mirror RRB Group-D 14-09-2022
(Shift-1T)
The principal focus of a convex mirror is located— Behind the mirror RRB Group-D 17-09-2022
(Shift-1T)
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